E-T-N Winner

Powering Business Worldwide

TEANEERX

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015






A SE5

1C. 1D&Z
PB2

PB3

1CB. 1DB
PB4

1CB-WD. 1DB-WD
PB5

U

1CH-N. 1DH-N
PB8

1CH9-OGN, 1DH9-OGN
PB9

PB10

mit -
% :
1CI-B-WD, 1DI-B-WD)
PB11

PB12

1CM-WD. 1DM-WD
PB13

1CN. 1DN
PB14

1CT-SP. 1DT-SP
PB16

1CW. 1DW
PB17

PB18

ACCH-OGN. ADDH-OGN
PB28

ACCO-0OG. ADDO-OG
PB29

ACHC-OGN. ADHD-OGN
PB30

ACOC-OG. ADOD-OG
PB31

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015






FTEXEREX

L1
11

EE (I In 7% 3
sz si  \ss
INHIINRLY 24° $E
1C 1C-RNW METRIC MALE 24° CONE
1D 1D-RNW ISO 8434-1
R 5 PART NO. 12 2t THREAD & T-4M% TUBE O.D. R s} DIMENSIONS
#:L{ABODY ZH{FASSEMBLY E F D1 D2 1 L1 S1 S2 S3

1C-12Z 1C-12RNWZ M12X1.5 | M12X1.5 6 6 10 39 12 14 14
1C-14Z 1C-14RNWZ M14X1.5 | M14X1.5 8 8 11 40 14 17 17
1C-16Z 1C-16RNWZ M16X1.5 | M16X1.5 10 10 13 42 17 19 19
1C-18Z 1C-18RNWZ M18X1.5 | M18X1.5 12 12 14 43 19 22 22
1C-22Z7 1C-22RNWZ M22X1.5 | M22X1.5 15 15 16 46 24 27 27
1C-26Z 1C-26RNWZ M26X1.5 | M26X1.5 18 18 16 48 27 32 32
1C-30Z 1C-30RNWZ M30X2 M30X2 22 22 20 52 32 36 36
1C-36Z 1C-36RNWZ M36X2 M36X2 28 28 21 54 41 41 41
1C-45Z7 1C-45RNWZ M45X2 M45X2 35 35 20 63 46 50 50
1C-527 1C-52RNWZ M52X2 M52X2 42 42 21 66 55) 60 60
1D-14Z 1D-14RNWZ M14X1.5 | M14X1.5 6 6 16 45 14 17 17
1D-16Z 1D-16RNWZ M16X1.5 | M16X1.5 8 8 18 47 17 19 19
1D-18Z 1D-18RNWZ M18X1.5 | M18X1.5 10 10 17 49 19 22 22
1D-20Z 1D-20RNWZ M20X1.5 | M20X1.5 12 12 19 51 22 24 24
1D-22Z 1D-22RNWZ M22X1.5 | M22X1.5 14 14 22 57 24 27 27
1D-24Z7 1D-24RNWZ M24X1.5 | M24X1.5 16 16 21 57 27 30 30
1D-30Z 1D-30RNWZ M30X2 M30X2 20 20 23 66 32 36 36
1D-36Z 1D-36RNWZ M36X2 M36X2 25 25 26 74 41 46 46
1D-427 1D-42RNWZ M42X2 M42X2 30 30 27 80 46 50 50
1D-527 1D-52RNWZ M52X2 M52X2 38 38 29 90 55 60 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-1



FTEXEREX

L1
; r 11
JEN
L — L | — ~
| = f 7% 8
S2 St S3
1c 1C-RNW PNHIFMERLT 24° HE
- METRIC MALE 24° CONE REDUCER
1D 1D-RNW ISO 8434-1
X = PART NO. 12 24t THREAD & F4Mz TUBE O.D. R < DIMENSIONS
$%31.44BODY | 414FASSEMBLY E F D1 D2 L1 11 S1 S2 S3
1C-12-14Z 1C-12-14RNWZ | M12X1.5 | M14X1.5 6 8 40 11 14 14 17
1C-12-16Z 1C-12-16RNWZ | M12X1.5 | M16X1.5 6 10 41 12 17 14 19
1C-12-18Z 1C-12-18RNWZ | M12X1.5 | M18X1.5 6 12 42 13 19 14 22
1C-14-16Z 1C-14-16RNWZ | M14X1.5 | M16X1.5 8 10 41 12 17 17 19
1C-14-18Z 1C-14-18RNWZ | M14X1.5 | M18X1.5 8 12 42 13 19 17 22
1C-16-18Z 1C-16-18RNWZ | M16X1.5 | M18X1.5 10 12 43 14 19 19 22
1C-16-227 1C-16-22RNWZ | M16X1.5 | M22X1.5 10 15 445 | 15 24 19 27
1C-16-26Z 1C-16-26RNWZ | M16X1.5 | M26X1.5 10 18 46 | 155 | 27 19 32
1C-18-22Z 1C-18-22RNWZ | M18X1.5 | M22X1.5 12 15 445 | 15 24 22 27
1C-18-26Z 1C-18-26RNWZ | M18X1.5 | M26X1.5 12 18 46 | 155 | 27 22 32
1C-18-30Z 1C-18-30RNWZ | M18X1.5 | M30X2 12 22 48 | 175 | 32 22 36
1C-22-26Z 1C-22-26RNWZ | M22X1.5 | M26X1.5 15 18 475 | 165 | 27 27 32
1C-22-30Z 1C-22-30RNWZ | M22X1.5 | M30X2 15 22 495 [ 185 | 32 27 36
1C-26-30Z 1C-26-30RNWZ | M26X1.5 | M30X2 18 22 50 18 32 32 36
1C-26-36Z 1C-26-36RNWZ | M26X1.5 | M36X2 18 28 515 [ 19 41 32 41
1C-30-36Z 1C-30-36RNWZ | M30X2 | M36X2 22 28 535 | 21 38 36 41
1C-30-45Z 1C-30-45RNWZ | M30X2 | M45X2 22 35 585 | 21 46 36 50
1C-36-45Z 1C-36-45RNWZ | M36X2 | M45X2 28 35 59 21 46 41 50

1D-14-16Z 1D-14-16RNWZ | M14X1.5 | M16X1.5 8 47 18 17 17 19

1D-14-18Z 1D-14-18RNWZ | M14X1.5 | M18X1.5 10 48 17.5 19 17 22

1D-16-18Z 1D-16-18RNWZ [ M16X1.5 | M18X1.5 10 48 17.5 19 19 22

6
6
1D-14-20Z 1D-14-20RNWZ | M14X1.5 | M20X1.5 6 12 50 19.5 22 17 24
8
8

1D-16-20Z 1D-16-20RNWZ | M16X1.5 | M20X1.5 12 50 19.5 22 19 24
1D-18-20Z 1D-18-20RNWZ | M18X1.5 | M20X1.5 10 12 51 19 22 22 24
1D-18-227 1D-18-22RNWZ | M18X1.5 | M22X1.5 10 14 54 20.5 24 22 27
1D-18-30Z 1D-18-30RNWZ | M18X1.5 | M30X2 10 20 59.5 22 32 22 36
1D-20-227 1D-20-22RNWZ | M20X1.5 | M22X1.5 12 14 54 20.5 24 24 27
1D-20-24Z 1D-20-24RNWZ | M20X1.5 | M24X1.5 12 16 54 20 27 24 30
1D-20-30Z 1D-20-30RNWZ | M20X1.5 | M30X2 12 20 59.5 22 32 24 36
1D-22-247 1D-22-24RNWZ | M22X1.5 | M24X1.5 14 16 57 21.5 27 27 30
1D-24-30Z 1D-24-30RNWZ | M24X1.5 | M30X2 16 20 62.5 23 32 30 36
1D-24-36Z 1D-24-36RNWZ | M24X1.5 | M36X2 16 25 67.5 | 25.5 41 30 46
1D-30-36Z 1D-30-36RNWZ [ M30X2 M36X2 20 25 71 25.5 41 36 46
1D-30-42Z 1D-30-42RNWZ | M30X2 M42X2 20 30 74 26 46 36 50
1D-36-42Z 1D-36-42RNWZ | M36X2 M42X2 25 30 77 26.5 46 46 50
1D-42-527 1D-42-52RNWZ | M42X2 M52X2 30 38 86.5 | 29.5 55 50 60

B-2 EATON Winner 53 &%k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

TE)Z<1>

S1
2/ 1
1C9 1C9-RNW INHIINRLY 24° $ 90° T
- METRIC MALE 24° CONE 90° ELBOW
1D9 1D9-RNW ISO 8434-1
f{ 5 PART NO. 12 40 THREAD ¥4z TUBE O.D. JU <} DIMENSIONS
#:3Lk&<BODY HIFASSEMBLY E F D1 D2 1,2 | L1,L2 [ S1 |S2,S3
1C9-12Z 1C9-12RNWZ | M12X1.5 | M12X1.5 6 6 12 27 12 14
1C9-14Z 1C9-14RNWZ | M14X1.5 | M14X1.5 8 8 14 29 12 17
1C9-16Z 1C9-16RNWZ | M16X1.5 | M16X1.5 10 10 15 30 14 19
1C9-18Z 1C9-18RNWZ | M18X1.5 | M18X1.5 12 12 17 32 17 22
1C9-227 1C9-22RNWZ | M22X1.5 | M22X1.5 15 15 21 36 19 27
1C9-26Z 1C9-26RNWZ | M26X1.5 | M26X1.5 18 18 235 | 40 24 32
1C9-30Z 1C9-30RNWZ M30X2 M30X2 22 22 275 | 44 27 36
1C9-36Z 1C9-36RNWZ M36X2 M36X2 28 28 305 | 47 36 41
1C9-457 1C9-45RNWZ M45X2 M45X2 35 35 345 | 56 41 50
1C9-527 1C9-52RNWZ M52X2 M52X2 42 42 40 63 50 60
1D9-14Z 1D9-14RNWZ | M14X1.5 | M14X1.5 6 6 16 31 12 17
1D9-16Z 1D9-16RNWZ [ M16X1.5 | M16X1.5 8 8 17 32 14 19
1D9-18Z 1D9-18RNWZ [ M18X1.5 | M18X1.5 10 10 175 | 34 17 22
1D9-20Z 1D9-20RNWZ | M20X1.5 | M20X1.5 12 12 215 | 38 17 24
1D9-227 1D9-22RNWZ | M22X1.5 | M22X1.5 14 14 22 40 19 27
1D9-24Z 1D9-24RNWZ | M24X1.5 | M24X1.5 16 16 245 | 43 24 30
1D9-30Z 1D9-30RNWZ M30X2 M30X2 20 20 265 | 48 27 36
1D9-36Z 1D9-36RNWZ M36X2 M36X2 25 25 30 54 36 46
1D9-427 1D9-42RNWZ M42X2 M42X2 30 30 355 [ 62 41 50
1D9-52Z 1D9-52RNWZ M52X2 M52X2 38 38 41 72 50 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-3



FTEXEREX

M=t

S1 NHITNZEL 244/
HEEIBL60° ST
1CB 1CB-RNW METRIC MALE 24°CONE /
1DB 1DB-RNW BSP 60° CONE SEAL
X 5 PART NO. 12 4 THREAD EFIME D1 R~ DIMENSIONS

#%3:1ABODY | #H{+ASSEMBLY E F TUBEO.D.| B 11 L1 L S1 | s2
1CB-12-02Z | 1CB-12-02RNWZ | M12X1.5 G1/8"X28 6 10 8 23 | 24 | 14 | 14
1CB-12-04Z | 1CB-12-04RNWZ | M12X1.5 G1/4"X19 6 12 9 24 | 28 | 19 | 14
1CB-14-02Z | 1CB-14-02RNWZ | M14X1.5 G1/8"X28 8 10 8 23 | 25 | 14 | 17
1CB-14-04Z | 1CB-14-04RNWZ | M14X1.5 G1/4"X19 8 12 9 25 | 28 | 19 | 17
1CB-14-06Z | 1CB-14-06RNWZ | M14X1.5 G3/8"X19 8 135| 9 24 | 285]| 22 | 17
1CB-16-04Z | 1CB-16-04RNWZ | M16X1.5 G1/4"X19 10 12 | 10 | 25 [ 28 [ 19 | 19
1CB-16-06Z | 1CB-16-06RNWZ | M16X1.5 G3/8"X19 10 135|125 25 | 33 | 22 | 19
1CB-16-08Z | 1CB-16-08RNWZ | M16X1.5 G1/2"X14 10 16 | 11 26 | 32 | 27 | 19
1CB-18-04Z | 1CB-18-04RNWZ | M18X1.5 G1/4"X19 12 12 | 10 | 25 | 29 | 19 | 22
1CB-18-06Z | 1CB-18-06RNWZ | M18X1.5 G3/8"X19 12 135 10 | 25 [305 ]| 22 | 22
1CB-18-08Z | 1CB-18-08RNWZ | M18X1.5 G1/2"X14 12 16 | 11 26 | 33 | 27 | 22
1CB-18-12Z | 1CB-18-12RNWZ | M18X1.5 G3/4"X14 12 18.5 | 11 26 | 365 32 | 22
1CB-22-06Z | 1CB-22-06RNWZ | M22X1.5 G3/8"X19 15 135 | 11 26 |315]| 24 | 27
1CB-22-08Z | 1CB-22-08RNWZ | M22X1.5 G1/2"X14 15 16 | 12 | 27 | 34 | 27 | 27
1CB-26-08Z | 1CB-26-08RNWZ | M26X1.5 G1/2"X14 18 16 | 115 28 | 35 | 27 | 32
1CB-26-12Z | 1CB-26-12RNWZ | M26X1.5 G3/4"X14 18 185 | 115 | 28 [ 355 32 [ 32
1CB-30-12Z | 1CB-30-12RNWZ M30X2 G3/4"X14 22 185|135 | 30 [395] 32 [ 36
1CB-36-16Z | 1CB-36-16RNWZ M36X2 G1"X11 28 205 | 145 | 31 | 425 41 | 41
1CB-45-20Z | 1CB-45-20RNWZ M45X2 G1.1/4"X11 35 205|155 | 37 | 455 50 | 50
1CB-52-24Z | 1CB-52-24RNWZ M52X2 G1.1/2"X11 42 23 | 16 | 39 | 50 | 55 | 60
1DB-14-04Z | 1DB-14-04RNWZ | M14X1.5 G1/4"X19 6 12 | 13 | 28 | 30 | 19 | 17
1DB-16-04Z | 1DB-16-04RNWZ | M16X1.5 G1/4"X19 8 12 | 13 | 28 [ 32 [ 19 | 19
1DB-16-06Z | 1DB-16-06RNWZ | M16X1.5 G3/8"X19 8 135 15 | 32 [ 355 22 [ 19
1DB-18-04Z | 1DB-18-04RNWZ | M18X1.5 G1/4"X19 10 12 | 125 29 | 32 [ 19 | 22
1DB-18-06Z | 1DB-18-06RNWZ | M18X1.5 G3/8"X19 10 135|145 31 [335] 22 | 22
1DB-18-08Z | 1DB-18-08RNWZ | M18X1.5 G1/2"X14 10 16 | 145 | 31 36 | 27 | 22
1DB-20-04Z | 1DB-20-04RNWZ | M20X1.5 G1/4"X19 12 12 | 145 31 34 | 22 | 24
1DB-20-06Z | 1DB-20-06RNWZ | M20X1.5 G3/8"X19 12 135|145 31 |[355]| 22 | 24
1DB-20-08Z | 1DB-20-08RNWZ | M20X1.5 G1/2"X14 12 16 | 145 31 38 | 27 | 24
1DB-22-08Z | 1DB-22-08RNWZ | M22X1.5 G1/2"X14 14 16 | 16 | 34 | 40 | 27 | 27
1DB-24-06Z | 1DB-24-06RNWZ | M24X1.5 G3/8"X19 16 135|155 | 34 [375] 27 | 30
1DB-24-08Z | 1DB-24-08RNWZ | M24X1.5 G1/2"X14 16 16 | 155 34 | 40 | 27 | 30
1DB-24-12Z | 1DB-24-12RNWZ | M24X1.5 G3/4"X14 16 185|175 | 36 445 32 | 30
1DB-30-12Z | 1DB-30-12RNWZ M30X2 G3/4"X14 20 185|175 | 39 | 485 32 | 36
1DB-36-08Z | 1DB-36-08RNWZ M36X2 G1/2"X14 25 16 | 19 | 43 | 48 | 41 | 46
1DB-36-12Z | 1DB-36-12RNWZ M36X2 G3/4"X14 25 185 | 19 | 43 | 505 41 | 46
1DB-36-16Z | 1DB-36-16RNWZ M36X2 G1"X11 25 205 | 20 | 44 |525]| 41 | 46
1DB-42-20Z | 1DB-42-20RNWZ M42X2 G1.1/4"X11 30 205|215 | 48 | 545 | 50 | 50
1DB-52-24Z | 1DB-52-24RNWZ M52X2 G1.1/2"X11 38 23 | 23 | 54 | 62 | 55 | 60

B-4 EATON Winner 53 &%k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

11
NN
| Y
) L)
S2 S1
NHIFMZLL 24° HE | HEBOTRET
1CB-WD 1CB-WDRNW METRIC MALE 24°CONE /
1DB-WD 1DB-WDRNW BSP CAPTIVE SEAL
1% 5 PART NO. 12 40 THREAD EYAMEDT | B JX 5} DIMENSIONS

$::/kBODY 411FASSEMBLY E F UEO.D. |CAPTIVE| B M1 | L1 | S1] s2
1CB-12-02WDZ | 1CB-12-02WDRNWZ | M12X1.5 | G1/8"X28 6 WD-B02 | 8 | 95 235 14 | 14
1CB-12-04WDZ | 1CB-12-04WDRNWZ | M12X1.5 | G1/4"X19 6 WD-B04 | 12 | 10 [ 25 | 19 | 14
1CB-12-06WDZ | 1CB-12-06WDRNWZ | M12X1.5 | G3/8"X19 6 WD-B06 | 12 |11.5[265| 22 | 14
1CB-14-02WDZ | 1CB-14-02WDRNWZ | M14X1.5 | G1/8"X28 8 WD-B02 | 8 | 95| 24 | 14 | 17
1CB-14-04WDZ | 1CB-14-04WDRNWZ | M14X1.5 | G1/4"X19 8 WD-B04 | 12 | 10 [ 24 | 19 | 17
1CB-14-06WDZ | 1CB-14-06WDRNWZ | M14X1.5 | G3/8"X19 8 WD-B06 | 12 |115| 26 | 22 | 17
1CB-16-04WDZ | 1CB-16-04WDRNWZ | M16X1.5 | G1/4"X19 10 WD-B04 | 12 | 11 [245] 19 | 19
1CB-16-06WDZ | 1CB-16-06WDRNWZ | M16X1.5 | G3/8"X19 10 WD-B06 | 12 | 125 26 | 22 | 19
1CB-16-08WDZ | 1CB-16-08WDRNWZ | M16X1.5 | G1/2"X14 10 WD-B0O8 | 14 | 14 [ 28 | 27 | 19
1CB-18-04WDZ | 1CB-18-04WDRNWZ | M18X1.5 | G1/4"X19 12 WD-B04 | 12 | 11 [ 27 | 19 | 22
1CB-18-06WDZ | 1CB-18-06WDRNWZ | M18X1.5 | G3/8"X19 12 WD-B06 | 12 |125(| 26 | 22 | 22
1CB-18-08WDZ | 1CB-18-08WDRNWZ | M18X1.5 | G1/2"X14 12 WD-B0O8 | 14 | 14 | 28 | 27 | 22
1CB-22-04WDZ | 1CB-22-04WDRNWZ | M22X1.5 | G1/4"X19 15 WD-B04 | 12 | 13 | 28 | 24 | 27
1CB-22-06WDZ | 1CB-22-06WDRNWZ | M22X1.5 | G3/8"X19 15 WD-B06 | 12 |135( 28 | 24 | 27
1CB-22-08WDZ | 1CB-22-08WDRNWZ | M22X1.5 | G1/2"X14 15 WD-B0O8 | 14 | 15 | 29 | 27 | 27
1CB-22-12WDZ | 1CB-22-12WDRNWZ | M22X1.5 | G3/4"X14 15 WD-B12 | 16 | 15 [ 29 | 32 | 27
1CB-26-08WDZ | 1CB-26-08WDRNWZ | M26X1.5 | G1/2"X14 18 WD-B08 | 14 |145(| 31 | 27 | 32
1CB-26-12WDZ | 1CB-26-12WDRNWZ | M26X1.5 | G3/4"X14 18 WD-B12 | 16 |145(| 31 | 32 | 32
1CB-30-12WDZ | 1CB-30-12WDRNWZ | M30X2 | G3/4"X14 22 WD-B12 | 16 |16.5| 33 | 32 | 36
1CB-36-16WDZ | 1CB-36-16WDRNWZ | M36X2 [ G1"X11 28 WD-B16 | 18 |17.5| 34 | 41 | 41
1CB-45-20WDZ | 1CB-45-20WDRNWZ | M45X2 [G1.1/4"X11 35 WD-B20 | 20 |17.5| 39 | 50 | 50
1CB-52-24WDZ | 1CB-52-24WDRNWZ | M52X2 |G1.1/2"X11 42 WD-B24 | 22 | 19 | 42 | 55 | 60
1DB-14-04WDZ | 1DB-14-04WDRNWZ | M14X1.5 | G1/4"X19 6 WD-B04 | 12 | 15 | 30 | 19 | 17
1DB-16-04WDZ | 1DB-16-04WDRNWZ | M16X1.5 | G1/4"X19 8 WD-B04 | 12 | 15 | 30 | 19 | 19
1DB-16-06WDZ | 1DB-16-06WDRNWZ | M16X1.5 | G3/8"X19 8 WD-B06 | 12 |155| 30 | 22 | 19
1DB-18-04WDZ | 1DB-18-04WDRNWZ | M18X1.5 | G1/4"X19 10 WD-B04 | 12 |145(| 31 | 19 | 22
1DB-18-06WDZ | 1DB-18-06WDRNWZ | M18X1.5 | G3/8"X19 10 WD-B06 | 12 | 15 | 31 | 22 | 22
1DB-18-08WDZ | 1DB-18-08WDRNWZ | M18X1.5 | G1/2"X14 10 WD-B08 | 14 |17.5| 34 | 27 | 22
1DB-20-04WDZ | 1DB-20-04WDRNWZ | M20X1.5 | G1/4"X19 12 WD-B04 | 12 | 15 [ 33 | 22 | 24
1DB-20-06WDZ | 1DB-20-06WDRNWZ | M20X1.5 | G3/8"X19 12 WD-B06 | 12 | 15 [ 33 | 22 | 24
1DB-20-08WDZ | 1DB-20-08WDRNWZ | M20X1.5 | G1/2"X14 12 WD-B08 | 14 |17.8| 34 | 27 | 24
1DB-22-08WDZ | 1DB-22-08WDRNWZ | M22X1.5 | G1/2"X14 14 WD-B08 | 14 | 19 | 37 | 27 | 27
1DB-24-06WDZ | 1DB-24-06WDRNWZ | M24X1.5 | G3/8"X19 16 WD-B06 | 12 |185(36.5| 27 | 30
1DB-24-08WDZ | 1DB-24-08WDRNWZ | M24X1.5 | G1/2"X14 16 WD-B08 | 14 |18.8| 37 | 27 | 30
1DB-24-12WDZ | 1DB-24-12WDRNWZ | M24X1.5 | G3/4"X14 16 WD-B12 | 16 |20.5| 39 | 32 | 30
1DB-30-12WDZ | 1DB-30-12WDRNWZ | M30X2 | G3/4"X14 20 WD-B12 | 16 |205| 42 | 32 | 36
1DB-36-08WDZ | 1DB-36-08WDRNWZ | M36X2 | G1/2"X14 25 WD-B0O8 | 14 | 23 | 47 | 38 | 46
1DB-36-12WDZ | 1DB-36-12WDRNWZ | M36X2 | G3/4"X14 25 WD-B12 | 16 | 23 | 47 | 41 | 46
1DB-36-16WDZ | 1DB-36-16WDRNWZ | M36X2 [ G1"X11 25 WD-B16 | 18 | 23 | 47 | 41 | 46
1DB-42-20WDZ | 1DB-42-20WDRNWZ | M42X2 [G1.1/4"X11 30 WD-B20 | 20 | 235 50 | 50 | 50
1DB-52-24WDZ | 1DB-52-24WDRNWZ | M52X2 [G1.1/2"X11 38 WD-B24 | 22 | 26 | 57 | 55 | 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-5



FTEXEREX

w S w ‘_Jgj |
=]
—, st AHISMES 24"
HEBNONEZT
1CG 1CG-RNW METRIC MALE 24°CONE /
1DG 1DG-RNW BSP ORING SEAL
A 5 PART NO. 12 2 THREAD E4ME D1 O & R~} DIMENSIONS
#%LABODY | 4H4-ASSEMBLY E F TUBE O.D. O-RING B 1 L1 S1 S2
1CG-12-02Z | 1CG-12-02RNWZ | M12X1.5 | G1/8"X28 6 07.97X1.88 76 1104 | 23 14 14
1CG-12-04Z | 1CG-12-04RNWZ | M12X1.5 | G1/4"X19 6 o111 11 95 25 19 14
1CG-14-04Z | 1CG-14-04RNWZ | M14x1.5 | G1/4"X19 8 o111 11 10 25 19 17
1CG-14-06Z |1CG-14-06RNWZ | M14x1.5 | G3/8"X19 8 0113 115|115 ]| 26 24 17
1CG-14-08Z | 1CG-14-08RNWZ | M14x1.5 | G1/2"X14 8 017.86X2.62 14 13 | 27.5| 27 34
1CG-16-04Z | 1CG-16-04RNWZ | M16x1.5 | G1/4"X19 10 o111 11 12 26 19 19
1CG-16-06Z | 1CG-16-06RNWZ | M16x1.5 | G3/8"X19 10 0113 1151125\ 27 24 19
1CG-16-08Z | 1CG-16-08RNWZ | M16x1.5 | G1/2"X14 10 017.86X2.62 14 14 29 27 19
1CG-18-06Z | 1CG-18-06RNWZ | M18x1.5 | G3/8"X19 12 0113 11.51125| 27 24 22
1CG-18-08Z | 1CG-18-08RNWZ | M18x1.5 | G1/2"X14 12 017.86X2.62 14 14 28 27 22
1CG-22-06Z | 1CG-22-06RNWZ | M22x1.5 | G3/8"X19 15 0113 11.5113.5| 29 24 27
1CG-22-08Z | 1CG-22-08RNWZ | M22x1.5 | G1/2"X14 15 017.86X2.62 14 15 29 27 27
1CG-22-12Z | 1CG-22-12RNWZ | M22x1.5 | G3/4"X14 15 0119 14.5]119.5( 30 36 32
1CG-26-08Z | 1CG-26-08RNWZ | M26x1.5 | G1/2"X14 18 017.86X2.62 14 | 145| 31 27 32
1CG-26-12Z | 1CG-26-12RNWZ | M26x1.5 | G3/4"X14 18 0119 145|155 32 36 32
1CG-30-12Z | 1CG-30-12RNWZ | M30x2 G3/4"X14 22 0119 145|175 33 36 36
1CG-30-16Z | 1CG-30-16RNWZ | M30x2 G1"X11 22 0217 186 16.9| 35 41 36
1CG-36-16Z | 1CG-36-16RNWZ | M36x2 G1"X11 28 0217 18.6 | 16.9| 34 41 41
1CG-45-20Z | 1CG-45-20RNWZ | M45x2 |G1.1/4"X11 35 0222 20 |17.5| 39 50 50
1CG-52-20Z | 1CG-52-20RNWZ | M52X2 |G1.1/4"X11 42 0222 20 19 42 55 60
1CG-52-247Z | 1CG-52-24RNWZ | M52x2 |1G1.1/2"X11 42 0224 2151 19 42 60 60
1CG-52-32Z | 1CG-52-32RNWZ | M52x2 G2"X11 42 054.0x3.0 245 | 25 44 70 60
1DG-14-04Z | 1DG-14-04RNWZ | M14X1.5 | G1/4"X19 6 o111 11 14 28 19 17
1DG-16-04Z | 1DG-16-04RNWZ | M16X1.5 | G1/4"X19 8 o111 11 15 31 19 19
1DG-18-04Z | 1DG-18-04RNWZ | M18x1.5 | G1/4"X19 10 o111 11 145 31 19 22
1DG-18-06Z | 1DG-18-06RNWZ | M18x1.5 | G3/8"X19 10 0113 1.5 15 31 24 22
1DG-20-06Z | 1DG-20-06RNWZ | M20x1.5 | G3/8"X19 12 0113 1.5 15 32 24 24
1DG-20-08Z | 1DG-20-08RNWZ | M20x1.5 | G1/2"X14 12 017.86X2.62 14 |17.5| 34 27 24
1DG-22-06Z | 1DG-22-06RNWZ | M22x1.5 | G3/8"X19 14 0113 15| 16 37 24 27
1DG-22-08Z | 1DG-22-08RNWZ | M22x1.5 | G1/2"X14 14 017.86X2.62 14 19 37 27 27
1DG-24-04Z | 1DG-24-04RNWZ | M24x1.5 | G1/4"X19 16 o111 11 17 37 27 30
1DG-24-08Z | 1DG-24-08RNWZ | M24x1.5 | G1/2"X14 16 017.86X2.62 14 | 18.5| 37 27 30
1DG-30-12Z | 1DG-30-12RNWZ | M30x2 G3/4"X14 20 0119 145|215 42 36 36
1DG-36-12Z | 1DG-36-12RNWZ | M36x2 G3/4"X14 25 0119 145 | 24 47 41 46
1DG-36-16Z | 1DG-36-16RNWZ | M36x2 G1"X11 25 0217 18.6|22.4 | 47 41 46
1DG-42-16Z | 1DG-42-16RNWZ | M42x2 G1"X11 30 0217 18.6|22.9| 48 46 50
1DG-42-20Z | 1DG-42-20RNWZ | M42x2 |G1.1/4"X11 30 0222 20 | 23.5] 50 50 50
1DG-52-24Z | 1DG-52-24RNWZ | M52x2 |G1.1/2"X11 38 0224 21.5| 26 57 60 60

vE: FI240 51S0 1179-1 HULEf# . Note: F thread end fit with 1ISO1179-1 port.

B-6

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

S2 s3 3
pa— éﬂ
i DEE_JJH:% o ABOMEB LR
- RKE gﬂﬂﬂ%@_@ﬁéﬁr
90°=
METRIC MALE 24°CONE /
1CG9-0G 1CG9-OGRNW BSP ADJUSTABLE ORING SEAL
1DG9-0G 1DG9-OGRNW 90° ELBOW
£ 5 PART NO. i2 4 THREAD |4 74142 D1 e R~} DIMENSIONS
#3k1ABODY 1 ASSEMBLY E F TUBEO.D. | CAPTIVE | 1 | L1|L2|S1([s2]|s3
1CG9-12-020GZ [ 1CG9-12-020GRNWZ [ M12X1.5 | G1/8"X28 6 07.97X1.88N90| 13 | 28 [25.5 11 | 14|14
1CG9-14-040GZ [ 1CG9-14-040GRNWZ [ M14X1.5 | G1/4"X19 8 0111 N90  [15.5(30.5(31.3| 14 | 1719
1CG9-16-040GZ [ 1CG9-16-040GRNWZ [ M16X1.5 | G1/4"X19 10 0111 N90  [17.5[32.5[32.5| 16 | 1919
1CG9-16-060GZ [ 1CG9-16-060GRNWZ [ M16X1.5 | G3/8"X19 10 O113N90 [17.5/32.5/35.8| 16 19|22
1CG9-18-060GZ [ 1CG9-18-060GRNWZ [ M18X1.5 | G3/8"X19 12 O113N90 | 19|34 |37 |19 [22(22
1CGY9-22-080GZ [ 1CG9-22-080GRNWZ [ M22X1.5 | G1/2"X14 15 017.86X2.62N90| 22 | 37 [43.2| 22 | 27|27
1CG9-26-080GZ [ 1CG9-26-080GRNWZ [ M26X1.5 | G1/2"X14 18 017.86X2.62N90|25.5| 42 | 46 | 27 | 32|27
1CGY9-26-120GZ [ 1CG9-26-120GRNWZ [ M26X1.5 | G3/4"X14 18 O119N90 |25.5| 42 |49.3| 27 [32(32
1CG9-30-120GZ [ 1CG9-30-120GRNWZ [ M30X2 | G3/4"X14 22 O119N90 |27.5|45.8| 52 | 30 [36(32
1CG9-30-160GZ [ 1CG9-30-160GRNWZ [ M30X2 [ G1"X11 22 0217 N90 |31.5| 48 | 53 | 33 36|41
1CGY9-36-160GZ [ 1CG9-36-160GRNWZ [ M36X2 [ G1"X11 28 0217 N90 | 33 |49.8| 56 | 36 |41 |41
1CGY9-36-200GZ [ 1CG9-36-200GRNWZ [ M36X2 [G1.1/4"X11 28 0222 N90 | 36 |52.8| 59 | 41 |41]50
1CGY9-45-200GZ [ 1CG9-45-200GRNWZ [ M45X2 [G1.1/4"X11 35 0222 N90 | 39 |60.7| 63 | 48 | 50|50
1CGY9-52-240GZ [ 1CG9-52-240GRNWZ [ M52X2 [G1.1/2"X11 42 0224 N90  |40.5|67.8|64.5( 50 |60 |55
1DG9-14-040GZ | 1DG9-14-040GRNWZ [ M14X1.5 | G1/4"X19 6 0111 N90  [17.5[32.5[31.3| 14 | 17|19
1DGY9-16-040GZ [ 1DG9-16-040GRNWZ [ M16X1.5 [ G1/4"X19 8 0111 N90  [18.5[33.7|32.5| 16 | 1919
1DG9-16-060GZ [ 1DG9-16-060GRNWZ | M16X1.5 | G3/8"X19 8 0113 N90 |18.5|33.7(35.5| 16 | 19|22
1DG9-18-060GZ | 1DG9-18-060GRNWZ | M18X1.5 | G3/8"X19 10 0113 N90 |19.5| 36 [36.8| 19 |22]22
1DG9-20-060GZ | 1DG9-20-060GRNWZ | M20X1.5 | G3/8"X19 12 O113N90 [19.5| 36 | 37 | 19 |24 |22
1DGY9-22-080GZ [ 1DG9-22-080GRNWZ [ M22X1.5 | G1/2"X14 14 017.86X2.62N90|23.5| 41 [43.2| 22 | 27|27
1DGY9-24-080GZ | 1DG9-24-080GRNWZ | M24X1.5 | G1/2"X14 16 017.86X2.62N90| 24 |42.5| 43 | 24 | 30|27
1DG9-30-120GZ | 1DG9-30-120GRNWZ | M30X2 | G3/4"X14 20 0119 N90 |26.5[49.5| 52 | 30 | 3632
1DG9-36-160GZ [ 1DG9-36-160GRNWZ | M36X2 | G1"X11 25 0217 N90  |32.5|56.8| 56 | 36 |46 |41
1DGY9-42-200GZ | 1DG9-42-200GRNWZ [ M42X2 [G1.1/4"X11 30 0222 N90 | 36 |62.7(59.5| 41 | 50|50
1DGY9-52-240GZ | 1DG9-52-240GRNWZ [ M52X2 [G1.1/2"X11 38 0224 N90  |41.5|76.863.5| 50 |60 |55
vE: FIRZ0m 51S0 1179-13 D ULECf# . Note: F thread end fit with 1ISO1179-1 port.
EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-7




FTEXEREX

L1 B
11
A ki SRSl

s2 NSt NI INZE LT 245/

NHIIMBEL O B F
1CH-N 1CH-NRNW METRIC MALE 24°CONE /
1DH-N 1DH-NRNW METRIC ORING SEAL

£ 5 PART NO. i2 4L THREAD | 74M% D1| O )\t DIMENSIONS
$23L1ABODY ZH14ASSEMBLY E F TUBE O.D. | O-RING B 11 L1 | S1 | S2
1CH-12-10NZ | 1CH-12-10NRNWZ | M12X1.5 [ M10X1 6 008.1X16 [ 85 [ 95| 23 [ 14 | 14
1CH-14NZ 1CH-14NRNWZ | M14X1.5 | M14X1.5 8 ons3xe2 [ 111025197 17
1CH-14-12NZ | 1CH-14-12NRNWZ | M14X1.5 [ M12X1.5 8 009.3x22 [ 11 [ 10 [ 25 [ 17 | 17
1CH-16-14NZ | 1CH-16-14NRNWZ | M16X1.5 [ M14X1.5 10 omna3x22 [ 11 [ 1326 19 ] 19
1CH-18-14NZ | 1CH-18-14NRNWZ | M18X1.5 [ M14X1.5 12 011.3x22 | 11 | 11 [255] 19 | 22
1CH-14-18NZ | 1CH-14-18NRNWZ | M14X1.5 [ M18X1.5 8 015.3x2.2 [125[115[265] 24 | 17
1CH-16NZ 1CH-16NRNWZ | M16X1.5 | M16X1.5 10 013.3x22 [115[125] 28 [ 22 | 19
1CH-16-18NZ | 1CH-16-18NRNWZ | M16X1.5 [ M18X1.5 10 015.3X2.2 [125[125] 28 [ 24 | 19
1CH-18-16NZ | 1CH-18-16NRNWZ [ M18X1.5 [ M16X1.5 12 013.3x2.2 [115[125] 27 [ 22 | 22
1CH-22-16NZ | 1CH-22-16NRNWZ | M22X1.5 [ M16X1.5 15 013.3x2.2 [115[135[295] 24 | 27
1CH-22-18NZ | 1CH-22-18NRNWZ | M22X1.5 [ M18X1.5 15 015.3X2.2 [125[135] 29 | 24 | 27
1CH-16-22NZ | 1CH-16-22NRNWZ | M16X1.5 [ M22X1.5 10 019.3x2.2 [ 13 [135[295] 27 | 19
1CH-22-20NZ | 1CH-22-20NRNWZ | M22X1.5 [ M20X1.5 15 017.3x22 [ 12 | 15 [305] 27 | 27
1CH-22NZ 1CH-22NRNWZ | M22X1.5 | M22X1.5 15 0193x22 [ 13 [ 15 [ 31 [ 27 | 27
1CH-26-22NZ | 1CH-26-22NRNWZ | M26X1.5 [ M22X1.5 18 019.3X2.2 [ 13 [145] 31 [ 27 | 32
1CH-26NZ 1CH-26NRNWZ | M26X1.5 | M26X1.5 18 023.6X2.9 [135[145] 31 [ 32 | 32
1CH-26-27NZ | 1CH-26-27NRNWZ | M26X1.5 [ M27x2 18 0236x29 | 16 [145] 32 [ 32 | 32
1CH-26-33NZ | 1CH-26-33NRNWZ | M26X1.5 | M33X2 18 029.6X2.9 | 16 [155] 33 | 41 | 32
1CH-30-22NZ | 1CH-30-22NRNWZ | M30x2 | M22Xx1.5 22 019.3x2.2 [ 13 [16.5] 33 [ 32 | 36
1CH-30-27NZ | 1CH-30-27NRNWZ | M30x2 | M27x2 22 0236x29 | 16 [165] 33 [ 32 | 36
1CH-30NZ 1CH-30NRNWZ | M30X2 | M30X2 22 026.6X2.9 | 16 [17.5] 33 | 36 | 36
1CH-36-27NZ | 1CH-36-27NRNWZ | M36X2 [ M27x2 28 0236Xx29 [ 16 [ 17 [ 34 [ 41 [ 41
1CH-36-33NZ | 1CH-36-33NRNWZ | M36Xx2 | M33x2 28 029.6x29 | 16 [175] 34 | 41 | 41
1CH-36-42NZ | 1CH-36-42NRNWZ | M36X2 | M42X2 28 0386X2.9 | 16 [185] 35 [ 50 | 41
1CH-45-33NZ | 1CH-45-33NRNWZ | M45x2 | M33x2 35 029.6x2.9 [ 16 [175] 37 | 46 | 50
1CH-45-42NZ | 1CH-45-42NRNWZ | M45x2 [ Mm42x2 35 038.6x2.9 [ 16 [175] 37 [ 50 | 50
1CH-52-48NZ | 1CH-52-48NRNWZ | M52x2 | M48x2 42 044.6x2.9 [175] 19 | 40 | 55 | 60
1DH-14NZ 1DH-14NRNWZ | M14X1.5 | M14X1.5 6 omn3x22 | 11 | 15| 28 [ 19 | 17
1DH-14-12NZ | 1DH-14-12NRNWZ | M14X1.5 | M12X1.5 6 009.3x22 [ 11 [ 1328 [ 17 | 17
1DH-16-14NZ | 1DH-16-14NRNWZ | M16X1.5 | M14X1.5 8 om3x22 [ 11 [ 15[ 30 | 19 ] 19
1DH-18-16NZ | 1DH-18-16NRNWZ | M18X1.5 [ M16X1.5 10 013.3x22 [115] 15 [ 31 [ 22 | 22
1DH-20-14NZ | 1DH-20-14NRNWZ | M20X1.5 [ M14X1.5 12 ons3xe2 [ 1M [ 1531 [ 22 24
1DH-20-16NZ | 1DH-20-16NRNWZ | M20X1.5 [ M16X1.5 12 0133x22 [115] 15 [ 31 [ 22 | 24
1DH-20-18NZ | 1DH-20-18NRNWZ | M20X1.5 | M18X1.5 12 015.3X2.2 [125] 17 [ 33 [ 24 | 24
1DH-20-22NZ | 1DH-20-22NRNWZ | M20X1.5 [ M22X1.5 12 019.3x2.2 [ 13 [175] 35 [ 27 | 30
1DH-24-22NZ | 1DH-24-22NRNWZ | M24X1.5 | M22X1.5 16 019.3x22 | 13 [185] 37 [ 27 | 30
1DH-30NZ 1DH-30NRNWZ | M30X2 | M30X2 20 026.6X2.9 | 16 [205] 42 [ 36 [ 36
1DH-30-27NZ | 1DH-30-27NRNWZ | M30x2 [ Mm27x2 20 023.6Xx29 | 16 [205] 42 [ 32 | 36
1DH-30-33NZ | 1DH-30-33NRNWZ | M30x2 | M33x2 20 029.6x2.9 [185[225[ 42 [ 41 | 36
1DH-36-27NZ | 1DH-36-27NRNWZ | M36X2 | M27X2 25 0236xX29 | 16 [ 23 [ 47 [ 41 | 46
1DH-36-33NZ | 1DH-36-33NRNWZ [ M36X2 | M33x2 25 029.6x2.9 [185] 23 [ 47 [ 41 | 46
1DH-42NZ 1DH-42NRNWZ | M42x2 | m42x2 30 038.6x2.9 [ 16 [235] 50 [ 50 | 50
1DH-42-48NZ | 1DH-42-48NRNWZ | M42x2 | M48x2 30 044.6X2.9 [175]265] 52 | 55 | 50

1 PRS0 51SO 6149-17H HIPLAELAHH . Note: F thread end fit with ISO 6149-1 port.

B-8

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

S2 . N
§ NPZB
QEEI’ 1_/5% NI INELL24°4E AT IF A I IMES O B % £
=7 s, e
1 90°=
L1 METRIC MALE 24°CONE /
ADJUSTABLE METRIC MALE ORING SEAL
1CH9-OGN 1CH9-OGNRNW 90° ELBOW
1DH9-OGN 1DH9-OGNRNW
5 PART NO. 2 ZL THREAD  |#% 742 D1| O HE JU < DIMENSIONS

B3k kBODY 201+ ASSEMBLY E F TUBEOD. | ORING | |1 [1|L2]|s1]|S2|S3
1CHY-12-100GNZ | 1CH9-12-100GNRNWZ [ M12X1.5 [ M10X1 6 008.1X1.6 | 13 | 28 |26.5| 11 |14[14
1CHY-14-120GNZ | 1CH9-14-120GNRNWZ [ M14X1.5 [ M12X1.5 8 009.3X2.2 |15.5|30.5|32.5| 14 |17 |17
1CHY-16-140GNZ | 1CH9-16-140GNRNWZ [ M16X1.5 [ M14X1.5 10 011.3X2.2 [17.5[32.5| 34 | 16 | 1919
1CHY-18-160GNZ | 1CH9-18-160GNRNWZ [ M18X1.5 [ M16X1.5 12 013.3X2.2 | 19| 34 | 36 | 19 |22(22
1CHY-22-180GNZ | 1CH9-22-180GNRNWZ | M22X1.5 [ M18X1.5 15 015.3X2.2 | 22 | 37 |39.5| 22 |27 |24
1CHY-26-220GNZ | 1CH9-26-220GNRNWZ | M26X1.5 [ M22X1.5 18 019.3X2.2 |25.5| 42 |43.5| 27 | 32|27
1CHY-30-270GNZ | 1CH9-30-270GNRNWZ | M30X2 | M27x2 22 023.6X2.9 |29.5|45.8| 50 | 30 | 3632
1CH9-36-330GNZ | 1CH9-36-330GNRNWZ | M36X2 | M33x2 28 029.6X2.9 |33.2|149.8| 54 | 36 | 41|41
1DHY9-14-120GNZ | 1DH9-14-120GNRNWZ | M14X1.5 | M12X1.5 6 009.3X2.2 [17.5|32.5 32 | 14 (17|17
1DH9-16-140GNZ | 1DH9-16-140GNRNWZ [ M16X1.5 [ M14X1.5 8 011.3X2.2 [18.5(33.7| 34 | 16 | 1919
1DHY-18-160GNZ | 1DH9-18-160GNRNWZ | M18X1.5 | M16X1.5 10 013.3X2.2 [19.5| 36 [ 36 | 19 [22]22
1DH9-20-180GNZ | 1DH9-20-180GNRNWZ | M20X1.5 | M18X1.5 12 015.3X2.2 [19.5| 36 | 37 | 19 (24|24
1DHY9-22-200GNZ | 1DH9-22-200GNRNWZ | M22X1.5 | M20X1.5 14 017.3X2.2 [23.5| 41 [40.5| 22 |27 |27
1DHY9-24-220GNZ | 1DH9-24-220GNRNWZ | M24X1.5 | M22X1.5 16 019.3X2.2 | 24 | 42 | 41 | 24 [32]27
1DH9-30-270GNZ | 1DH9-30-270GNRNWZ [ M30X2 | M27x2 20 023.6X2.9 [28.5|49.8[ 50 | 30 3632
1DH9-36-330GNZ | 1DH9-36-330GNRNWZ [ M36X2 | M33X2 25 029.6X2.9 [32.856.8| 54 | 36 |46 |41
1DH9-420GNZ 1DH9-420GNRNWZ | M42X2 | M42X2 30 038.6X2.9 | 36 |62.7(57.2| 41 [50|50
vE: FIRgUf51S0 6149-13 I VLAELA A . Note: F thread end fit with ISO 6149-1 port.

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-9



FTEXEREX

0-RING —
\

S3

L5

[\
E E—

L6

WD

S

7/ |

L]

%J NHIINEL24°4E/
AHIZL A WD E T
1CI-WD 1CI-WDRNW METRIC MALE 24° CONE /
1DI-WD 1DI-WDRNW  METRIC BANJO WITH WD SEAL
% % PART NO. B2 ZLTHREAD |74z D1| O | WD frat [ I DIMENSIONS
#:3:/ABODY | 41#+ASSEMBLY E F | TUBEOD. | O-RING (WD SEAL| p2 | L1 | L2 [ L3 |L4| L5 [L6|S1]S2|S3
1CI-12-10WDZ| 1CI-12-10WDRNWZ [ M12X1.5 | M10X1 6  |008.1x1.6| WD-BO2 (139 19 | 12 | 10 [8.524.5(1.5[14 [17[14
1Cl-14-12WDZ|1CI-14-12WDRNWZ [M14X1.5[M12x15| 8  |009.3x2.2| WD-M12 [16.9[21.5|14.5|1135|12| 32 | 2 [17[22[17
1Cl-16-14WDZ| 1CI-16-14WDRNWZ [ M16X1.5 [M14X1.5| 10  |0O11.3x2.2| WD-B04 [18.9[235|16.5|13.5|12 32 | 2 [19[24[19
1CI-16WDZ | 1CI-16WDRNWZ [M16X1.5[M16X1.5] 10  |013.3x2.2| WD-M16 [21.9| 26 | 19 | 16 |12 38 | 2 [22[27[19
1Cl-18-16WDZ| 1CI-18-16WDRNWZ[M18X1.5|M16X1.5| 12  |013.3X2.2| WD-M16 [21.9] 26 | 19 | 16 |12 38 | 2 [22[27[22
1Cl-22-18WDZ| 1CI-22-18WDRNWZ [ M22X1.5[M18X1.5| 15  |015.3X2.2| WD-M18 [23.9(28.5/|21.5|17.5|12 41 [2.524 [30(27
1Cl-22WDZ | 1CI-22WDRNWZ [M22X1.5[M22x15| 15  |019.3X2.2| WD-M22 [26.9[29.5|22.5|20.5| 14 | 48 | 3 |27 32|27
1Cl-26-22WDZ| 1CI-26-22WDRNWZ [ M26X1.5 [M22x1.5| 18  |019.3X2.2| WD-M22 [26.929.5| 22 |20.5|14 48 | 3 [2732[32
1CI-30-22WDZ| 1CI-30-22WDRNWZ [ M30X2 [M22x1.5| 22 |019.3X2.2| WD-M22 [26.9| 36 |28.5| 24 |14 54 | 3 274136
1CI-30-26WDZ| 1CI-30-26WDRNWZ [ M30X2 [M26X1.5| 22  |023.6X2.9| WD-B12 [31.9| 36 |28.5| 24 |16 56 | 3 [36[41[36
1CI-36-33WDZ| 1CI-36-33WDRNWZ| M36X2 | M33X2 28  [029.6X%2.9| WD-B16 {39.9|1405| 33 [29.5[18| 70 | 3 |41(50|41
1Cl-45-42WDZ| 1CI-45-42WDRNWZ| M45X2 | M42x2 35  |0386X2.9| WD-B20 [49.9|47.5( 37 | 35 [20]81.5| 3 |50(60|50
1CI-52-48WDZ| 1CI-52-48WDRNWZ| M52X2 | M48X2 42 |0446X29| WD-B24 |54.9|52.5[41.5| 40 [22]925| 3 |55|70|60
1DI-14-12WDZ| 1DI-14-12WDRNWZ [M14X1.5[M12X15| 6  |009.3X2.2| WD-M12 [16.923.5|16.5|13.5|12 32 | 2 [17[22[17
1DI-16-14WDZ| 1DI-16-14WDRNWZ [ M16X1.5 |[M14X15| 8 011.3X2.2| WD-B04 |18.9|24.5(17.5[13512| 32 | 2 |19]24]19
1DI-18-16WDZ| 1DI-18-16WDRNWZ[M18X1.5[M16X1.5| 10  |013.3X2.2| WD-M16 [21.9| 27 |19.5| 16 |12 38 | 2 [22[27[22
1DI-20-18WDZ| 1DI-20-18WDRNWZ [ M20X1.5 [M18X1.5| 12  |015.3X2.2| WD-M18 [23.9[28.5| 21 |17.5|12| 41 [2.524 [30|24
1DI-22-20WDZ| 1DI-22-20WDRNWZ [ M22X1.5 [M20X1.5| 14  |017.3X2.2| WD-M20 [25.9(31.5|23.5| 20 |14 46 [2.527 [32[27
1DI-24-22WDZ| 1DI-24-22WDRNWZ [ M24X1.5[M22xX1.5| 16  |019.3X2.2| WD-M22 [26.9[31.5| 23 |20.5|14 48 | 3 [27[32[30
1DI-30-26WDZ [ 1DI-30-26WDRNWZ| M30X2 [M26X1.5[ 20  |023.6X2.9| WD-B12 [31.9] 38 |27.5| 24 [16] 56 | 3 [36[41|36
1DI-30-27WDZ| 1DI-30-27WDRNWZ| M30X2 | M27X2 20  [0236X29| WD-B12 |319| 38 [27.5| 24 [16] 56 | 3 |36[41|36
1DI-36-33WDZ | 1DI-36-33WDRNWZ| M36X2 | M33X2 25  [029.6X2.9| WD-B16 |39.9|44.5[32.5[29.5[18| 70 | 3 |41[50|46
1DI-42WDZ | 1DI-42WDRNWZ | M42X2 | M42x2 30  |038.6X2.9| WD-B20 [49.9]515| 38 | 35 |20(81.5] 3 [50(60|50
1DI-52-42WDZ| 1DI-52-42WDRNWZ| M52X2 | M42x2 38 |0386X2.9| WD-B20 [49.9|58.5[42.5| 40 [20]91.5| 3 |50{70|60
1DI-52-48WDZ| 1DI-52-48WDRNWZ| M52X2 | M48X2 38  |044.6X2.9| WD-B24 (549|585 [42.5| 40 [22]92.5| 3 |55|70|60

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

S3

&z

L]

RFPRA IR WDEE

DHEIIMEL24°HE/

1CI-BWD 1CI-BWDRNW METRIC MALE 24° CONE /

1DI-BWD 1DI-BWDRNW BSP BANJO WITH WD SEAL

£ 5 PART NO. i2 2L THREAD |&74M2D1| OmE | WD etk J& < DIMENSIONS
#LABODY | ZHfFASSEMBLY E F TUBEOD. | O-RING |\WD SEAL| p2 | L1 | L2 | L3 |L4| L5 [L6|S1|S2|S3
1CI-12-B02WDZ [1CI-12-BO2WDRNWZ|M12X1.5| G1/8"X28 6 008.1X1.6| WD-B02 |13.9] 19 | 12 | 10 |8.5|24.5|1.5|14|17|14
1CI-14-B04WDZ [1CI-14-BO4WDRNWZ| M14X1.5| G1/4"X19 8 011.3X2.2| WD-B04 |18.9]22.5|15.5/13.5 12| 32 19(24|17
1CI-16-B04WDZ|1CI-16-BO4WDRNWZ[M16X1.5| G1/4"X19 10  |0o11.3x2.2| wD-B04 [18.9(235|16.5(13.5(12| 32 19(24]19
1CI-18-B04WDZ|1CI-18-BO4WDRNWZ[M18X1.5| G1/4"X19 12 |o11.3x2.2| wD-B04 [18.9[ 26 | 19 |15.5[12( 36 | 2 |19[27[22
1CI-18-B06WDZ|1CI-18-BOBWDRNWZ[M18X1.5| G3/8"X19 12 |015.3x2.2| WD-B06 [21.9] 26 | 19 |15.5[12( 37 [2.5]|24 (27|22
1CI-22-B08WDZ|1CI-22-BOBWDRNWZ|M22X1.5| G1/2"X14 15 |019.3x2.2| WD-B08 [26.9(29.5|22.5|20.5(14 48 | 3 |27(32[27
1CI-26-B08WDZ|1CI-26-BOBWDRNWZ|M26X1.5| G1/2'X14 18 |019.3x2.2| WD-B08 [26.9(29.5| 22 [20.5[14| 48 | 3 |27[32[32
1CI-30-B12WDZ[1CI-30-B12WDRNWZ| M30X2 | G3/4"X14 22 |0236X29| WD-B12 [31.9| 36 (285 24 |16 56 | 3 [36[41|36
1CI-36-B16WDZ|1CI-36-B16WDRNWZ| M36X2 | G1"X11 28 |029.6X2.9| WD-B16 |39.9|140.5( 33 [29.5|18| 70 | 3 |41|50|41
1CI-45-B20WDZ|1CI-45-B20WDRNWZ| M45X2 |G1.1/4"X11 35  |038.6X2.9] WD-B20 |49.9|47.5| 37 | 35 |20|81.5| 3 |50/60|50
1CI-52-B24WDZ|1CI-52-B24WDRNWZ| M52X2 |G1.1/2"X11 42 |044.6X2.9| WD-B24 |54.9|52.5|41.5( 40 |22|92.5| 3 [55|70|60
1DI-14-B04WDZ|1DI-14-BO4AWDRNWZ|M14X1.5| G1/4"X19 6 011.3X2.2| WD-B04 |18.9|24.5(17.5|135|12| 32 | 2 |19]24|17
1DI-16-B04WDZ|1DI-16-BO4WDRNWZ[M16X1.5| G1/4"X19 8 011.3X2.2| WD-B04 |18.9|24.5[17.5|135|12| 32 | 2 |19]24]19
1DI-18-B06WDZ|1DI-18-BOBWDRNWZ[M18X1.5| G3/8"X19 10 |015.3%x2.2| WD-B06 [21.9| 27 |19.5|15.5|12( 37 [2.5]|24 (27|22
1DI-20-B06WDZ|1DI-20-BOBWDRNWZ|M20X1.5| G3/8"X19 12 |015.3%x2.2| WD-B06 [21.9(28.5| 21 |15.5[12( 37 [2.5]|24(30[24
1DI-22-B08WDZ |1DI-22-BOBWDRNWZ|M22X1.5| G1/2"X14 14 |019.3x2.2| WD-B08 [26.9(31.5|23.5|20.5(14 48 | 3 |27(32[27
1DI-24-B08WDZ|1DI-24-BOBWDRNWZ|M24X1.5| G1/2"X14 16 |019.3x2.2| WD-B08 [26.9(31.5| 23 |20.5[14( 48 | 3 |27(32[30
1DI-30-B12WDZ|1DI-30-B12WDRNWZ| M30X2 | G3/4"X14 20  |0236X29| WD-B12 [31.9| 38 |27.5( 24 | 16| 56 | 3 [36[41|36
1DI-36-B16WDZ|1DI-36-B16WDRNWZ| M36X2 | G1"X11 25  |029.6X2.9| WD-B16 |39.9|44.5(32.5|29.5|18| 70 | 3 |41|50|46
1DI-42-B20WDZ|1DI-42-B20WDRNWZ| M42X2 |G1.1/4"X11 30  |038.6X2.9| WD-B20 |49.9|51.5( 38 | 35 |20(81.5| 3 |50/60|50
1DI-52-B24WDZ|1DI-52-B24WDRNWZ| M52X2 |G1.1/2"X11 38 |044.6X2.9| WD-B24 |54.9|58.5[42.5| 40 |22]92.5| 3 |55/70|60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-11




FTEXEREX

L1 B
1
EE& - - 740

s 8 NHISMBLL24°4E

EHIJICT4HRE
1CJ 1CJ-RNW METRIC MALE 24°CONE /
1DJ 1DJ-RNW JIC 74° CONE SEALING

££ 5 PART NO. 12 2 THREAD 57 4% DA JX <+ DIMENSIONS
L ABODY 411+ASSEMBLY E F TUBEOD. | B [ L1 | L2 | S1 | s2
1CJ-10-04LLZ 1CJ-10-04LLRNWZ M10x1 7/16"X20 6 14 |75 20 | 12 | 12
1CJ-12A-04LLZ 1CJ-12A-04LLRNWZ M12x1 7/16"X20 8 14 | 85| 22 | 12 | 14
1CJ-12-04Z 1CJ-12-04RNWZ M12x1.5 | 7/16"X20 6 14| 8 | 24| 12| 14
1CJ-14-04Z 1CJ-14-04RNWZ M14x1.5 | 7/16"X20 8 14 | 8 | 23| 14 | 17
1CJ-14-06Z 1CJ-14-06RNWZ M14x1.5 | 9/16"X18 8 141 8 | 23 | 17 | 17
1CJ-16-06Z 1CJ-16-06RNWZ M16x1.5 | 9/16"X18 10 141189 | 24 [ 17 | 19
1CJ-18-06Z 1CJ-18-06RNWZ M18x1.5 | 9/16"X18 12 141199 | 25 [ 19 | 22
1CJ-18-08Z 1CJ-18-08RNWZ M18x1.5 | 3/4"X16 12 16.7]10.3| 25 | 22 | 22
1CJ-22-08Z 1CJ-22-08RNWZ M22x1.5 | 3/4"X16 15 16.7]10.8| 26 | 24 | 27
1CJ-22-10Z 1CJ-22-10RNWZ M22x1.5 | 7/8"X14 15 193] 11 | 26 | 24 | 27
1CJ-26-10Z 1CJ-26-10RNWZ M26X1.5 | 7/8"X14 18 193|117 28 | 27 | 32
1CJ-26-12Z 1CJ-26-12RNWZ M26X1.5 | 1.1/16"X12 18 219|116 28 | 30 | 32
1CJ-30-12Z 1CJ-30-12RNWZ M30x2 | 1.1/16"X12 22 219(136| 30 | 32 | 36
1CJ-36-16Z 1CJ-36-16RNWZ M36x2 | 1.5/16"X12 28 231145 31 | 41 | 41
1CJ-45-20Z 1CJ-45-20RNWZ M45X2 | 1.5/8"X12 35 243(147| 36 | 46 | 50
1CJ-52-20Z 1CJ-52-20RNWZ M52X2 | 1.5/8"X12 42 243| 16 | 39 | 55 | 60
1CJ-52-24Z 1CJ-52-24RNWZ M52X2 | 1.7/8"X12 42 275| 16 | 39 | 55 | 60
1DJ-14-04Z 1DJ-14-04RNWZ M14x1.5 | 7/16"X20 6 14 | 11| 26| 14 | 14
1DJ-16-04Z 1DJ-16-04RNWZ M16x1.5 | 7/16"X20 8 14 | 13 | 28 | 17 | 19
1DJ-16-06Z 1DJ-16-06RNWZ M16x1.5 | 9/16"X18 8 14.1(129| 28 | 17 | 19
1DJ-18-04Z 1DJ-18-04RNWZ M18x1.5 | 7/16"X20 10 14 [125] 29 | 19 | 22
1DJ-18-06Z 1DJ-18-06RNWZ M18x1.5 | 9/16"X18 10 14.1(124( 29 | 19 | 22
1DJ-20-06Z 1DJ-20-06RNWZ M20x1.5 | 9/16"X18 12 141|144 31 | 22 | 24
1DJ-20-08Z 1DJ-20-08RNWZ M20x1.5 | 3/4"X16 12 16.7|14.3| 31 | 22 | 24
1DJ-22-08Z 1DJ-22-08RNWZ M22x1.5 | 3/4"X16 14 16.7|15.8| 34 | 24 | 27
1DJ-24-08Z 1DJ-24-08RNWZ M24x1.5 | 3/4"X16 16 16.7|15.3| 34 | 27 | 30
1DJ-24-10Z 1DJ-24-10RNWZ M24x1.5 | 7/8"X14 16 19.3|15.2| 34 | 27 | 30
1DJ-30-12Z 1DJ-30-12RNWZ M30x2 | 1.1/16"X12 20 219(176| 39 | 32 | 36
1DJ-36-12Z 1DJ-36-12RNWZ M36x2 | 1.1/16X12 25 21.9(20.1| 43 | 41 | 46
1DJ-36-16Z 1DJ-36-16RNWZ M36x2 | 1.5/16X12 25 231199 43 | 41 | 46
1DJ-42-20Z 1DJ-42-20RNWZ M42x2 1.5/8"X12 30 243(202| 47 | 46 | 50
1DJ-52-24Z 1DJ-52-24RNWZ M52X2 | 1.7/8"X12 38 275 23 | 54 | 55 | 60

B-12 EATON Winner 53 &%k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

L1 B
11
Na
s il
e 11

s2 sl AHISMEL24°HE/

NGIEC B e S
1CM-WD 1CM-WDRNW  \iETRIC MALE 24°CONE /
1DM-WD 1DM-WDRNW  METRIC CAPTIVE SEAL

£ % PART NO. 2 4 THREAD | 74hz D1|  pos S <+ DIMENSIONS
B3k ABODY #{FASSEMBLY E F TUBEO.D. |CAPTIVE| B | 11 | L1 | s1 | s2
1CM-12-10WDZ |1CM-12-10WDRNWZ| M12X1.5 | M10X1 6 WD-B02 | 8 [ 95| 23 | 14 | 14
1CM-14-12WDZ |1CM-14-12WDRNWZ| M14X1.5 | M12X1.5 8 wD-M12 | 12 [105] 25 | 17 | 17
1CM-16-12WDZ |1CM-16-12WDRNWZ | M16X1.5 | M12X1.5 10 WD-M12 | 12 | 11 | 25 | 17 | 19
1CM-16-14WDZ |1CM-16-14WDRNWZ| M16X1.5 | M14X1.5 10 WD-M14 | 12 | 10 | 26 | 19 | 19
1CM-16-18WDZ |1CM-16-18WDRNWZ| M16X1.5 | M18X1.5 10 WD-M18 | 12 [125] 27 | 24 | 19
1CM-18-16WDZ |1CM-18-16WDRNWZ| M18X1.5 | M16X1.5 12 WD-M16 | 12 [125] 27 | 22 | 22
1CM-18WDZ | 1CM-18WDRNWZ | M18X1.5 | M18X1.5 12 WD-M18 | 12 |125| 27 | 24 | 22
1CM-18-22WDZ |1CM-18-22WDRNWZ| M18X1.5 | M22X1.5 12 WD-M22 | 14 | 14 | 29 | 27 | 22
1CM-22-18WDZ |1CM-22-18WDRNWZ| M22X1.5 | M18X1.5 15 WD-M18 | 12 | 14 | 29 | 24 | 27
1CM-22WDZ | 1CM-22WDRNWZ | M22X1.5 | M22X1.5 15 WD-M22 | 14 | 15 | 30 | 27 | 27
1CM-26-22WDZ | 1CM-26-22WDRNWZ| M26X1.5 | M22X1.5 18 WD-M22 | 14 |14.8| 31 | 27 | 32
1CM-30-26WDZ |1CM-30-26WDRNWZ| M30X2 | M26X1.5 22 wD-B12 | 16 |165( 33 | 32 | 36
1CM-30-27WDZ |1CM-30-27WDRNWZ| M30X2 | M27X2 22 WD-B12 | 16 [165] 33 | 32 | 36
1CM-36-33WDZ |1CM-36-33WDRNWZ| M36X2 | M33X2 28 WD-B16 | 18 [17.5| 34 | 41 | 41
1CM-45-42WDZ |1CM-45-42WDRNWZ| M45X2 | M42X2 35 WD-B20 | 20 [175] 39 | 50 | 50
1CM-52-48WDZ |1CM-52-48WDRNWZ| M52X2 | M48X2 42 WD-B24 | 22 | 20 | 42 | 55 | 60
1DM-14-12WDZ | 1DM-14-12WDRNWZ| M14X1.5 | M12X1.5 6 WD-M12 | 12 | 13 | 28 | 17 | 17
1DM-16-14WDZ | 1DM-16-14WDRNWZ| M16X1.5 | M14X1.5 8 WD-M14 | 12 | 15 | 30 | 19 | 19
1DM-18-16WDZ | 1DM-18-16WDRNWZ| M18X1.5 | M16X1.5 10 WD-M16 | 12 |145]| 31 | 22 | 22
1DM-20-18WDZ | 1DM-20-18WDRNWZ| M20X1.5 | M18X1.5 12 WD-M18 | 12 | 17 | 33 | 24 | 24
1DM-22-20WDZ | 1DM-22-20WDRNWZ| M22X1.5 | M20X1.5 14 WD-M20 | 14 | 19 | 37 | 27 | 27
1DM-24-22WDZ | 1DM-24-22WDRNWZ| M24X1.5 | M22X1.5 16 WD-M22 | 14 [155]| 37 | 27 | 30
1DM-30-27WDZ | 1DM-30-27ZWDRNWZ| M30X2 | M27X2 20 WD-B12 | 16 [205| 42 | 32 | 36
1DM-36-33WDZ |1DM-36-33WDRNWZ| M36X2 | M33X2 25 WD-B16 | 18 | 23 | 47 | 41 | 46
1DM-42WDZ | 1DM-42WDRNWZ | M42X2 | M42X2 30 WD-B20 | 20 [235| 50 | 50 | 50
1DM-52-48WDZ | 1DM-52-48WDRNWZ| M52X2 | M48X2 38 WD-B24 | 22 | 26 | 55 | 55 | 60
EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-13



FTEXEREX

L1
1
|
RIS [ e
s2 \St NI IMZE S 244/

T HEE MRS
1CN 1CN-RNW METRIC MALE 24°CONE /
1DN 1DN-RNW NPT MALE
A 5 PART NO. 12 2r THREAD &F4M% TUBE O.D. R ~+ DIMENSIONS

#::LABODY /H4-ASSEMBLY E F D1 11 L1 S1 S2
1CN-08-022 1CN-08-02RNWZ M8X1 Z1/8"X27 4 150 24.4 12 10
1CN-10-02LLZ 1CN-10-02LLRNWZ M10X1 Z1/8"X27 6 139 | 244 12 12
1CN-12-02LLZ 1CN-12-02LLRNWZ M12X1 Z1/8"X27 8 149 | 254 12 14
1CN-12-02Z 1CN-12-02RNWZ M12X1.5 Z1/8"X27 6 144 | 28.4 12 14
1CN-12-04Z 1CN-12-04RNWZ M12X1.5 Z1/4"X18 6 17.2 | 32.2 17 14
1CN-14-04Z 1CN-14-04RNWZ M14X1.5 Z1/4"X18 8 17.2 | 32.2 17 17
1CN-16-04Z 1CN-16-04RNWZ M16X1.5 Z1/4"X18 10 18.2 | 33.2 17 19
1CN-16-06Z 1CN-16-06RNWZ M16X1.5 Z3/8"X18 10 19.9 | 53.0 19 19
1CN-18-04Z 1CN-18-04RNWZ M18X1.5 Z1/4"X18 12 19.2 | 34.2 19 22
1CN-18-06Z 1CN-18-06RNWZ M18X1.5 Z3/8"X18 12 1991 34.9 19 22
1CN-18-08Z 1CN-18-08RNWZ M18X1.5 Z1/2"X14 12 214 | 36.4 22 22
1CN-22-08Z 1CN-22-08RNWZ M22X1.5 Z1/2"X14 15 224 | 374 24 27
1CN-22-20Z 1CN-22-20RNWZ M22X1.5 Z1.1/14"X11.5 15 29.8 | 374 46 27
1CN-26-08Z 1CN-26-08RNWZ M26X1.5 Z1/2"X14 18 229 | 394 27 32
1CN-26-12Z 1CN-26-12RNWZ M26X1.5 Z3/4"X14 18 22.4 | 38.9 30 32
1CN-30-08Z 1CN-30-08RNWZ M30X2 Z1/2"X14 22 25.2 1 40.5 32 36
1CN-30-12Z 1CN-30-12RNWZ M30X2 Z3/4"X14 22 2441 40.9 32 36
1CN-36-16Z 1CN-36-16RNWZ M36X2 Z1"X11.5 28 298 | 46.3 41 41
1CN-36-20Z 1CN-36-20RNWZ M36X2 Z1.1/14"X11.5 28 31.3 | 46.3 46 41
1CN-45-20Z7 1CN-45-20RNWZ M45X2 Z1.1/4"X11.5 35 30.3 | 51.8 46 50
1CN-52-20Z2 1CN-52-20RNWZ M52X2 Z1.1/14"X11.5 42 31.8 | 55.8 55 60
1CN-52-247 1CN-52-24RNWZ M52X2 Z1.1/2"X11.5 42 32.8 | 55.8 55, 60
1DN-14-04Z7 1DN-14-04RNWZ M14X1.5 Z1/4"X18 6 222 | 37.2 17 17
1DN-16-04Z 1DN-16-04RNWZ M16X1.5 Z1/4"X18 8 222 | 37.2 17 19
1DN-18-04Z 1DN-18-04RNWZ M18X1.5 Z1/4"X18 10 21.7 | 38.2 19 22
1DN-18-06Z 1DN-18-06RNWZ M18X1.5 Z3/8"X18 10 22.4 | 38.9 19 22
1DN-20-04Z 1DN-20-04RNWZ M20X1.5 Z1/4"X18 12 23.7 | 40.2 22 24
1DN-20-06Z 1DN-20-06RNWZ M20X1.5 Z3/8"X18 12 2441 409 | 22 24
1DN-20-08Z2 1DN-20-08RNWZ M20X1.5 Z1/2"X14 12 26.4 | 42.4 22 24
1DN-22-08Z 1DN-22-08RNWZ M22X1.5 Z1/2"X14 14 274 | 454 | 24 27
1DN-24-08Z2 1DN-24-08RNWZ M24X1.5 Z1/2"X14 16 26.9 | 454 27 30
1DN-30-12Z 1DN-30-12RNWZ M30X2 Z3/4"X14 20 28.4 | 49.9 32 36
1DN-36-12Z 1DN-36-12RNWZ M36X2 Z3/4"X14 25 30.9 1| 34.0 41 46
1DN-36-16Z 1DN-36-16RNWZ M36X2 Z1"X11.5 25 3531593 | 41 46
1DN-42-16Z 1DN-42-16RNWZ M42X2 Z1"X11.5 30 35.8 | 59.3 46 50
1DN-42-20Z 1DN-42-20RNWZ M42X2 Z1.1/4"X11.5 30 36.3 | 62.8 | 46 50
1DN-52-247 1DN-52-24RNWZ M52X2 Z1.1/12"X11.5 38 39.8170.8 55 60
B-14 EATON Winner i3k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

L1 B

R I Ejl e

sz 8 INEISMNBL 244/
EHIRL OF B &%
1CO 1CO-RNW METRIC MALE 24°CONE /
1DO 1DO-RNW SAE O-RING BOSS
£ % PART NO. MRS THREAD |4 7414% D1| O R DIMENSIONS
- hBODY | ZLfFASSEMBLY E F | TUBEOD.| ORING [ B | 11 | L1 | o1 | 52
1C0O-14-047 1C0O-14-04RNWZ M14X1.5 | 7/16"X20 8 0904 N90| 9.1 8.4 25 14 17
1C0O-16-04Z 1C0O-16-04RNWZ M16X1.5 | 7/16"X20 10 0904 N90| 9.1 94 26 17 19
1C0O-18-06Z 1C0O-18-06RNWZ M18X1.5 | 9/16"X18 12 0906 N90| 9.93 [10.07| 26 19 22
1C0O-18-08Z 1C0O-18-08RNWZ M18X1.5 3/4"X16 12 0908 N90(11.13|10.37| 28 22 22
1C0O-18-10Z 1C0O-18-10RNWZ M18X1.5 7/8"X14 12 0910 N90| 12.7113.8| 29 27 22
1C0O-22-08Z2 1C0O-22-08RNWZ M22X1.5 3/4"X16 15 0908 N90111.13|14.87| 29 24 27
1C0-22-10Z 1C0O-22-10RNWZ M22X1.5 7/8"X14 15 0910 N90| 12.7 | 12.3] 30 27 27
1C0-22-12Z7 1C0-22-12RNWZ M22X1.5 |1.1/16"X12 15 0912 N90(15.09(11.91] 30 32 27
1C0O-26-08Z 1C0O-26-08RNWZ M26X1.5 3/4"X16 18 0908 N90|11.13] 15 31 27 32
1C0O-26-10Z 1C0O-26-10RNWZ M26X1.5 7/8"X14 18 0910 N90| 12.7 | 11.5| 31 27 32
1C0O-30-08Z7 1C0O-30-08RNWZ M30X2 3/4"X16 18 0908 N90(11.13|17.37] 33 32 36
1C0O-30-10Z 1C0O-30-10RNWZ M30X2 7/8"X14 22 0910 N90| 12.7 | 17.3| 33 32 36

1C0O-30-12Z 1C0O-30-12RNWZ M30X2 [1.1/16"X12 22 0912 N90(15.09]13.51] 33 | 32 | 36
1C0O-30-16Z 1C0O-30-16RNWZ M30X2 [1.5/16"X12 22 0916 N90(15.09|14.41| 34 | 38 | 36
1C0O-36-12Z 1C0O-36-12RNWZ M36X2 |[1.1/16"X12 28 0912 N90(15.09|17.91| 34 | 38 | 41
1C0O-36-16Z 1C0O-36-16RNWZ M36X2 |[1.5/16"X12 28 0916 N90(15.09|14.41| 34 | 41 | 41
1C0O-45-16Z 1C0O-45-16RNWZ M45X2  [1.5/16"X12 35 0916 N90(15.09|22.41| 39 | 46 | 50

1C0-45-20Z 1C0O-45-20RNWZ M45X2 | 1.5/8"X12 35 0920 N90(15.09|16.41| 39 | 50 | 50
1C0-52-20Z 1C0O-52-20RNWZ M52X2 | 1.5/8"X12 42 0920 N90(15.09]|19.91] 42 | 55 | 60
1DO-16-04Z 1DO-16-04RNWZ | M16X1.5 | 7/16"X20 8 0904 N9O| 11 | 129 30 | 17 | 19
1DO-18-06Z 1DO-18-06RNWZ | M18X1.5 | 9/16"X18 10 0906 N90| 9.93 [12.57( 31 19 | 22
1D0O-20-06Z 1DO-20-06RNWZ | M20X1.5 | 9/16"X18 12 0906 N90 | 9.93 |16.57| 31 22 | 24
1D0O-20-08Z 1D0O-20-08RNWZ | M20X1.5 | 3/4"X16 12 0908 N90(11.13]|17.87| 34 | 24 | 24
1D0O-24-08Z 1D0O-24-08RNWZ | M24X1.5 | 3/4"X16 16 0908 N90|11.13|18.37 34 | 24 | 30
1D0-24-10Z 1D0O-24-10RNWZ | M24X1.5 | 7/8"X14 16 0910 N90|12.7118.8| 37 | 27 | 30
1D0O-30-08Z 1DO-30-08RNWZ M30X2 3/4"X16 20 0908 N90(11.13]20.87| 42 | 32 | 36
1DO-30-10Z 1DO-30-10RNWZ M30X2 7/8"X14 20 0910 N90|[12.71 203 | 42 | 32 | 36

1D0-30-12Z 1D0-30-12RNWZ M30X2 |1.1/16"X12 20 0912 N90(15.09|17.41| 42 | 32 | 36
1D0-36-12Z 1D0-36-12RNWZ M36X2 |1.1/16"X12 25 0912 N90(15.09|21.91| 47 | 41 | 46
1D0-36-16Z 1D0-36-16RNWZ M36X2 [1.5/16"X12 25 0916 N90(15.09|19.91| 47 | 41 | 46
1D0-42-16Z 1D0-42-16RNWZ M42x2 [1.5/16"X12 30 0916 N90[15.09]|22.41| 50 | 46 | 50
1D0-42-20Z 1D0O-42-20RNWZ M42X2 | 1.5/8"X12 30 0920 N90 [15.09|20.41| 50 | 50 | 50
1D0-52-20Z 1DO-52-20RNWZ M52X2 | 1.5/8"X12 38 0920 N90[15.09|25.91| 53.9 | 55 | 60
VE: FRRZ0H51S0O 11926-13M LA f# .  Note: F thread end fit with ISO11926-1 port.

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-15



FTEXEREX

L1
L 11
— N
w L 5&
#
F s2 \S1 INEIIMBLT24°HE/
BEHEE IMRALYL
1CT-SP 1CT-SPRNW METRIC MALE 24°CONE /
1DT-SP 1DT-SPRNW BSPT MALE
£ 5 PART NO. 12 £ THREAD & 4% TUBE O.D. R~ DIMENSIONS

#23:ABODY ZH1+ASSEMBLY E F D1 11 L1 S1 S2
1CT-12-02SPZ | 1CT-12-02SPRNWZ | M12x1.5 | R1/8"x28 6 13 28 12 14
1CT-12-04SPZ | 1CT-12-04SPRNWZ | M12x1.5 | R1/4"x19 6 165 | 315 | 14 14
1CT-14-04SPZ | 1CT-14-04SPRNWZ | M14x1.5 | R1/4"x19 8 16.5 | 315 | 14 17
1CT-14-06SPZ | 1CT-14-06SPRNWZ | M14x1.5 | R3/8"x19 8 176 | 326 | 17 17
1CT-16-04SPZ | 1CT-16-04SPRNWZ | M16x1.5 | R1/4"x19 10 175 | 325 | 17 19
1CT-16-06SPZ | 1CT-16-06SPRNWZ [ M16x1.5 [ R3/8"x19 10 176 | 336 | 17 19
1CT-16-08SPZ | 1CT-16-08SPRNWZ | M16x1.5 | R1/2"x14 10 218 | 36.8 | 22 19
1CT-16-12SPZ | 1CT-16-12SPRNWZ [ M16x1.5 | R3/4"x14 10 245 | 36.5 | 30 19
1CT-18-04SPZ | 1CT-18-04SPRNWZ | M18x1.5 | R1/4"x19 12 185 | 335 | 19 22
1CT-18-06SPZ | 1CT-18-06SPRNWZ | M18x1.5 | R3/8"x19 12 186 | 33.6 | 19 22
1CT-18-08SPZ | 1CT-18-08SPRNWZ | M18x1.5 | R1/2"x14 12 21.8 | 36.8 | 22 22
1CT-22-08SPZ | 1CT-22-08SPRNWZ | M22x1.5 | R1/2"x14 15 228 | 37.8 | 24 27
1CT-26-08SPZ | 1CT-26-08SPRNWZ | M26x1.5 | R1/2"x14 18 23.3 | 39.8 | 27 32
1CT-26-12SPZ | 1CT-26-12SPRNWZ | M26x1.5 | R3/4"x14 18 22 [ 385 30 32
1CT-30-12SPZ | 1CT-30-12SPRNWZ M30x2 R3/4"x14 22 24 | 405 | 32 36
1CT-36-16SPZ | 1CT-36-16SPRNWZ M36x2 R1"x11 28 296 | 46.1 | 41 41
1CT-36-20SPZ | 1CT-36-20SPRNWZ M36x2 [R1.1/4"x11 28 293 | 458 | 46 41
1CT-45-16SPZ | 1CT-45-16SPRNWZ M45x2 R1"x11 35 296 | 51.1 | 46 50
1CT-45-20SPZ | 1CT-45-20SPRNWZ M45x2  [R1.1/4"x11 35 28.3 | 498 | 46 50
1CT-52-20SPZ | 1CT-52-20SPRNWZ M52x2  [R1.1/4"x11 42 298 | 528 | 55 60
1CT-52-24SPZ | 1CT-52-24SPRNWZ M52x2  [R1.1/2"x11 42 29.8 | 52.8 | 55 60
1DT-14-04SPZ | 1DT-14-04SPRNWZ | M14x1.5 | R1/4"x19 6 215 | 365 | 17 17
1DT-16-04SPZ | 1DT-16-04SPRNWZ | M16x1.5 | R1/4"x19 8 215 | 365 | 17 19
1DT-18-04SPZ | 1DT-18-04SPRNWZ [ M18x1.5 | R1/4"x19 10 21 [ 375 19 22
1DT-20-04SPZ | 1DT-20-04SPRNWZ | M20x1.5 | R1/4"x19 12 23 [ 395 | 22 24
1DT-20-06SPZ | 1DT-20-06SPRNWZ | M20x1.5 | R3/8"x19 12 231 | 39.6 | 22 24
1DT-22-06SPZ | 1DT-22-06SPRNWZ | M22x1.5 | R3/8"'x19 14 246 | 426 | 24 27
1DT-22-08SPZ | 1DT-22-08SPRNWZ | M22x1.5 | R1/2"x14 14 278 | 458 | 24 27
1DT-24-06SPZ | 1DT-24-06SPRNWZ | M24x1.5 | R3/8"'x19 16 241 | 426 | 27 30
1DT-24-08SPZ | 1DT-24-08SPRNWZ | M24x1.5 | R1/2"x14 16 273 | 458 | 27 30
1DT-30-12SPZ | 1DT-30-12SPRNWZ M30x2 R3/4"x14 20 28 | 495 | 32 36
1DT-36-12SPZ | 1DT-36-12SPRNWZ M36x2 R3/4"x14 25 295 | 53.5 | 41 46
1DT-36-16SPZ | 1DT-36-16SPRNWZ M36x2 R1"x11 25 351 | 58.1 | 41 46
1DT-42-16SPZ | 1DT-42-16SPRNWZ M42x2 R1"x11 30 35.6 | 62.1 | 46 50
1DT-42-20SPZ | 1DT-42-20SPRNWZ M42x2  [R1.1/4"x11 30 343 | 60.8 | 46 50
1DT-52-20SPZ | 1DT-52-20SPRNWZ M52x2  [R1.1/4"x11 38 36.8 | 67.8 | 55 60
1DT-52-24SPZ | 1DT-52-24SPRNWZ M52x2  [R1.1/2"x11 38 36.8 | 67.8 | 55 60

B-16

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

L1 B

] _ _ _ AN =)
o
(m) B r — 1T

s2 \S1 N s oLkt
INFIINZRLL24°4E/
EREESk
1CW 1CW-RNW  VETRIC MALE 24°CONE /
1DW 1DW-RNW BUTT WELD
£ 5 PART NO. 12 4 E & 14Nz TUBE O.D. R~} DIMENSIONS
P ABODY 41{FASSEMBLY | THREAD D1 D2 B | D |1 |[L]|s1]s2
1CW-12-06 1CW-12-06RNW | M12x1.5 6 6 7 10| 7 | 22| 12] 14
1CW-14-08 1CW-14-08RNW | M14x1.5 8 8 8 | 12| 8 | 23 | 14 | 17
1CW-16-10 1CW-16-10RNW | M16x1.5 10 10 8 | 14 | 10 | 24 | 17 | 19
1CW-18-12 1CW-18-12RNW | M18x1.5 12 12 8 | 16 | 10 | 25 | 19 | 22
1CW-22-15 1CW-22-15RNW | M22x1.5 15 15 10 | 19 | 11| 26 | 24 | 27
1CW-26-18 1CW-26-18RNW | M26X1.5 18 18 10 | 22 [135] 28 | 27 | 32
1CW-26-22 1CW-26-22RNW | M26X1.5 18 22 12 | 27 |125] 28 | 27 | 32
1CW-30-22 1CW-30-22RNW M30x2 22 22 12 | 27 |165] 30 | 32 | 36
1CW-30-25 1CW-30-25RNW M30x2 22 25 12 | 29 [135] 30 | 32 | 36
1CW-36-28 1CW-36-28RNW M36x2 28 28 12 | 32 | 185 33 | 41 | 41
1CW-45-35 1CW-45-35RNW M45X2 35 35 14 | 40 [185| 36 | 46 | 50
1CW-52-42 1CW-52-42RNW M52X2 42 42 16 | 46 | 19 | 39 | 55 | 60
1DW-14-06 1DW-14-06RNW | M14x1.5 6 6 7 | 1| 11| 26 | 14| 17
1DW-16-08 1DW-16-08RNW | M16x1.5 8 8 8 | 13| 13 | 28 [ 17 | 19
1DW-18-10 1DW-18-10RNW | M18x1.5 10 10 8 | 15 |125] 29 | 19 | 22
1DW-20-12 1DW-20-12RNW | M20x1.5 12 12 10 | 17 [145] 31 | 22 | 24
1DW-22-14 1DW-22-14RNW | M22x1.5 14 14 10 | 19 | 16 | 34 | 24 | 27
1DW-24-16 1DW-24-16RNW | M24x1.5 16 16 10 | 21 [165] 34 | 27 | 30
1DW-30-20 1DW-30-20RNW M30x2 20 20 12 | 26 |175]| 39 | 32 | 36
1DW-36-25 1DW-36-25RNW M36x2 25 25 12 | 32 | 20 | 44 | 41 | 46
1DW-42-30 1DW-42-30RNW M42x2 30 30 14 | 37 |205| 47 | 46 | 50
1DW-52-38 1DW-52-38RNW M52X2 38 38 16 | 44 | 22 | 54 | 55 | 60
VRS AR R AL E AL 4L HE . Note: the body finish is phosphated .

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-17



FEREE
A

L1

W o
< St

. H_'L_} e s O 3 o1kt 4 S
JEL ER IR EE R/

52 NI RRLI24°
2BC-WD BSP THREAD WITH CAPTIVE SEAL/
2BD-WD METRIC FEMALE 24°CONE

;= 12 2y THREAD BT 4ME TUBE O.D. O JX <} DIMENSIONS

PART NO. E F D1 O-RING A L1 31 S2
2BC-02-12WDZ G1/8"X28 M12X1.5 6 004.5X1.5 8 25 14 17
2BC-04-12WDZ G1/4X19 M12X1.5 6 004.5X1.5| 12 | 25.5 19 17
2BC-04-14WDZ G1/4X19 M14X1.5 8 006.5X1.5| 12 25.5 19 17
2BC-04-16WDZ G1/4X19 M16X1.5 10 008.0X1.5| 12 255 19 19
2BC-04-18WDZ G1/4X19 M18X1.5 12 010.0X1.5| 12 26.5 19 22
2BC-04-22WDZ G1/4X19 M22X1.5 15 012.0X2.0| 12 28.5 22 27
2BC-04-26WDZ G1/4X19 M26X1.5 18 015.0X2.0 12 32.5 27 32
2BC-06-16WDZ G3/8"X19 M16X1.5 10 008.0X1.5| 12 28 22 19
2BC-06-18WDZ G3/8"X19 M18X1.5 12 010.0X1.5| 12 29 22 22
2BC-06-22WDZ G3/8"X19 M22X1.5 15 012.0X2.0| 12 29 22 27
2BC-08-18WDZ G1/2"X14 M18X1.5 12 010.0X1.5| 14 28.5 27 22
2BC-08-22WDZ G1/2"X14 M22X1.5 15 012.0X2.0| 14 28.5 27 27
2BC-08-26WDZ G1/2"X14 M26X1.5 18 015.0X2.0 14 34 27 32
2BC-12-22WDZ G3/4"X14 M22X1.5 15 012.0X2.0 16 30.5 32 27
2BC-12-26WDZ G3/4"X14 M26X1.5 18 015.0X2.0 16 34 32 32
2BC-12-30WDZ G3/4"X14 M30X2 22 020.0X2.0 16 31 32 36
2BC-12-36\WDZ G3/4"X14 M36X2 28 026.0X2.0 16 36.5 36 41
2BC-16-30WDZ G1"X11 M30X2 22 020.0X2.0 18 325 | 41 36
2BC-16-36\WDZ G1"X11 M36X2 28 026.0X2.0 18 335 41 41
2BC-16-45WDZ G1"X11 M45X2 35 032.0X2.5| 18 41 41 50
2BC-20-45WDZ G1.1/4"X11 M45X2 35 032.0X2.5| 20 43 50 50
2BC-24-45WDZ G1.1/2"X11 M45X2 35 032.0X25| 22 41 55 50
2BC-24-52WDZ G1.1/2"X11 M52X2 42 038.0X2.5| 22 43 55 60
2BD-04-14WDZ G1/4X19 M14X1.5 6 004.5X15| 12 28 19 17
2BD-04-16WDZ G1/4X19 M16X1.5 8 006.5X1.5 12 26.5 19 19
2BD-04-18WDZ G1/4X19 M18X1.5 10 008.0X1.5| 12 27 19 22
2BD-06-18WDZ G3/8"X19 M18X1.5 10 008.0X1.5 12 295 | 22 22
2BD-04-20WDZ G1/4X19 M20X1.5 12 010.0X1.5| 12 28 19 24
2BD-06-20WDZ G3/8"X19 M20X1.5 12 010.0X1.5| 12 30 22 24
2BD-08-20WDZ G1/2" X 14 M20X1.5 12 010.0X1.5| 14 | 325 | 27 24
2BD-06-22WDZ G3/8"X19 M22X1.5 14 011.0X2.0 12 30 22 27
2BD-08-22WDZ G1/2"X 14 M22X1.5 14 011.0X2.0 14 325 | 27 27
2BD-06-24WDZ G3/8"X19 M24X1.5 16 013.0X2.0 12 30.5 22 30
2BD-08-24WDZ G1/2"X 14 M24X1.5 16 013.0X2.0 14 34 27 30
2BD-12-24WDZ G3/4"X 14 M24X1.5 16 013.0X2.0 16 33 32 30
2BD-08-30WDZ G1/2"X14 M30X2 20 016.3X2.4 14 37.5 32 36
2BD-12-30WDZ G3/4"X 14 M30X2 20 016.3X2.4 16 37.5 32 36
2BD-16-30WDZ G1"X 11 M30X2 20 016.3X2.4 | 18 | 425 | 41 36
2BD-12-36WDZ G3/4"X 14 M36X2 25 020.3X2.4 16 42 36 46
2BD-16-36WDZ G1"X 11 M36X2 25 020.3X2.4 | 18 44 41 46
2BD-16-42WDZ G1"X 11 M42X2 30 025.3X2.4 18 | 46.5 | 41 50
2BD-20-42WDZ G1.1/4" X 11 M42X2 30 025.3X2.4 | 20 | 47.5 50 50
2BD-20-52WDZ G1.1/4"X 11 M52X2 38 033.3X2.4| 20 50.5 50 60
2BD-24-52WDZ G1.1/2" X 11 M52X2 38 033.3X24 | 22 50.5 515 60

B-18 EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

E |
|
F
— 1
D2

: j AHISMRL 244/
NHIREE24° 4
METRIC MALE 24°CONE /
2C 2C-RNW METRIC FEMALE 24°CONE
R 5 PART NO. 12 2t THREAD 14hME TUBE O.D. O 8l R ~f DIMENSIONS

#%L1ABODY | 4Hf:ASSEMBLY E F D1 D2 O-RING 11 L1 | S1]|S2| S3
2C-12-147 2C-12-14RNWZ M12X1.5 | M14X1.5 6 8 006.5x1.5 12351 38 | 12 | 14 | 17
2C-12-16Z 2C-12-16RNWZ M12X1.5 | M16X1.5 6 10 008.0x1.5 125140 | 14 | 14 | 19
2C-14-16Z 2C-14-16RNWZ M14X1.5 | M16X1.5 8 10 008.0x1.5 125140 | 14 | 17 | 19
2C-12-18Z 2C-12-18RNWZ M12X1.5 | M18X1.5 6 12 0O10.0x1.5 |1 25 | 40 | 17 | 14 | 22
2C-14-18Z 2C-14-18RNWZ M14X1.5 | M18X1.5 8 12 O100x1.5 1 25 | 40 | 17 | 17 | 22
2C-16-18Z 2C-16-18RNWZ M16X1.5 | M18X1.5 10 12 010.0x1.5 | 26 | 41 17 | 19 | 22
2C-12-227 2C-12-22RNWZ M12X1.5 | M22X1.5 6 15 012.0x2.0 |28.51 43 | 19 | 14 | 27
2C-14-227 2C-14-22RNWZ M14X1.5 | M22X1.5 8 15 012.0x2.0 |28.5]1 43 | 19 | 17 | 27
2C-16-22Z7 2C-16-22RNWZ M16X1.5 | M22X1.5 10 15 012.0x2.0 |29.5| 44 | 22 | 19 | 27
2C-18-227 2C-18-22RNWZ M18X1.5 | M22X1.5 12 15 012.0x2.0 |29.5| 44 | 22 | 22 | 27
2C-12-26Z 2C-12-26RNWZ M12X1.5 | M26X1.5 6 18 0O15.0x2.0 | 28 | 43 | 24 | 14 | 32
2C-14-26Z 2C-14-26RNWZ M14X1.5 | M26X1.5 8 18 015.0x2.0 | 28 | 43 | 24 | 17 | 32
2C-16-26Z 2C-16-26RNWZ M16X1.5 | M26X1.5 10 18 0O15.0x20 | 29 | 44 | 24 | 19 | 32
2C-18-26Z 2C-18-26RNWZ M18X1.5 | M26X1.5 12 18 0O15.0x2.0 | 29 | 44 | 24 | 22 | 32
2C-22-26Z 2C-22-26RNWZ M22X1.5 | M26X1.5 15 18 015.0x20 | 30 | 45 | 24 | 27 | 32
2C-12-30Z 2C-12-30RNWZ M12X1.5 M30X2 6 22 020.0x20 | 32 | 47 | 27 | 14 | 36
2C-14-30Z2 2C-14-30RNWZ M14X1.5 M30X2 8 22 020.0x2.0 | 32 | 47 | 27 | 17 | 36
2C-16-30Z 2C-16-30RNWZ M16X1.5 M30X2 10 22 020.0x20 | 33 |1 48 | 30 | 19 | 36
2C-18-30Z 2C-18-30RNWZ M18X1.5 M30X2 12 22 020.0x20 | 33 | 48 | 27 | 22 | 36
2C-22-30Z 2C-22-30RNWZ M22X1.5 M30X2 15 22 020.0x2.0 | 34 | 49 | 27 | 27 | 36
2C-26-30Z 2C-26-30RNWZ M26X1.5 M30X2 18 22 020.0x2.0 |33.51 50 | 27 | 32 | 36
2C-12-36Z 2C-12-36RNWZ M12X1.5 M36X2 6 28 026.0x2.0 | 34 | 49 | 36 | 14 | 41
2C-14-36Z 2C-14-36RNWZ M14X1.5 M36X2 8 28 026.0x2.0 | 34 | 49 | 36 | 17 | 41
2C-16-36Z 2C-16-36RNWZ M16X1.5 M36X2 10 28 026.0x20 | 35 | 50 | 36 | 19 | 41
2C-18-36Z 2C-18-36RNWZ M18X1.5 M36X2 12 28 026.0x20 | 35 | 50 | 36 | 22 | 41
2C-22-36Z 2C-22-36RNWZ M22X1.5 M36X2 15 28 026.0x20 | 36 | 51 | 36 | 27 | 41
2C-26-36Z 2C-26-36RNWZ M26X1.5 M36X2 18 28 026.0x2.0 |35.5|1 52 | 36 | 32 | 41
2C-30-36Z 2C-30-36RNWZ M30X2 M36X2 22 28 026.0x2.0 |37.5| 54 | 36 | 36 | 41
2C-12-457 2C-12-45RNWZ M12X1.5 M45X2 6 35 032.0x25 | 37 | 52 | 41 14 | 50
2C-14-457 2C-14-45RNWZ M14X1.5 M45X2 8 35 032.0x2.5 | 37 | 52 | 41 17 | 50
2C-16-457 2C-16-45RNWZ M16X1.5 M45X2 10 35 032.0x2.5 | 38 | 53 | 41 19 | 50
2C-18-457 2C-18-45RNWZ M18X1.5 M45X2 12 35 032.0x25 | 38 | 53 | 41| 22 | 50
2C-22-457 2C-22-45RNWZ M22X1.5 M45X2 15 35 032.0x25 139 | 54 | 41| 27 | 50
2C-26-457 2C-26-45RNWZ M26X1.5 M45X2 18 35 032.0x2.5 |38.51 55 | 41 | 32 | 50
2C-30-457 2C-30-45RNWZ M30X2 M45X2 22 35 032.0x2.5 [40.5|1 57 | 41 | 36 | 50
2C-36-457 2C-36-45RNWZ M36X2 M45X2 28 35 032.0x2.5 (1405 57 | 41 | 41 | 50
2C-12-527 2C-12-52RNWZ M12X1.5 M52X2 6 42 038.0x2.5 [40.51 55 | 50 | 14 | 60
2C-14-527 2C-14-52RNWZ M14X1.5 M52X2 8 42 038.0x2.5 [40.51 55 | 50 | 17 | 60
2C-16-527 2C-16-52RNWZ M16X1.5 M52X2 10 42 038.0x2.5 14151 56 | 50 | 19 | 60
2C-18-527 2C-18-52RNWZ M18X1.5 M52X2 12 42 038.0x2.5 [41.5]1 56 | 50 | 22 | 60
2C-22-527 2C-22-52RNWZ M22X1.5 M52X2 15 42 038.0x2.5 [425|1 58 | 50 | 27 | 60
2C-26-527 2C-26-52RNWZ M26X1.5 M52X2 18 42 038.0x25 | 42 | 58 | 50 | 32 | 60
2C-30-527 2C-30-52RNWZ M30X2 M52X2 22 42 038.0x25 |44 | 60 | 50 | 36 | 60
2C-36-527 2C-36-52RNWZ M36X2 M52X2 28 42 038.0x25 | 44 | 61 | 50 | 41 | 60
2C-45-527 2C-45-52RNWZ M45X2 M52X2 35 42 038.0x25 |43 | 65| 50 | 50 | 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-19



FTEXEREX

| NIRRT 24°8E/
NHIRER L 244
METRIC MALE 24°CONE /
2D 2D-RNW METRIC FEMALE 24°CONE
1% 5 PART NO. 12 2r THREAD T4M% TUBE O.D. (o)A R~ DIMENSIONS

#:L4ABODY | 411+ASSEMBLY E F D1 D2 O-RING 1 L1 S1 ]| S2 | S3
2D-14-16Z 2D-14-16RNWZ | M14X1.5 | M16X1.5 6 8 006.5x1.5 | 27 | 42 17 17 19
2D-14-18Z 2D-14-18RNWZ | M14X1.5 | M18X1.5 6 10 008.0x1.5 |27.5| 42 17 17 | 22
2D-16-18Z 2D-16-18RNWZ | M16X1.5 | M18X1.5 8 10 008.0x1.5 |27.5| 42 17 19 | 22
2D-14-20Z 2D-14-20RNWZ | M14X1.5 | M20X1.5 6 12 010.0x1.5| 29 | 44 17 17 | 24
2D-16-20Z 2D-16-20RNWZ | M16X1.5 | M20X1.5 8 12 010.0x1.5| 29 | 44 17 19 | 24
2D-18-20Z 2D-18-20RNWZ | M18X1.5 | M20X1.5 10 12 010.0x1.5 | 31 46 19 22 | 24
2D-14-227 2D-14-22RNWZ | M14X1.5 | M22X1.5 6 14 011.0x2.0 |31.5| 46 19 17 27
2D-16-227 2D-16-22RNWZ | M16X1.5 | M22X1.5 8 14 011.0x2.0 |31.5| 46 19 19 | 27
2D-18-227 2D-18-22RNWZ | M18X1.5 | M22X1.5 10 14 011.0x2.0 | 31 47 19 22 27
2D-20-227 2D-20-22RNWZ | M20X1.5 | M22X1.5 12 14 011.0x2.0 | 31 47 22 | 24 27
2D-14-247 2D-14-24RNWZ | M14X1.5 | M24X1.5 6 16 013.0x2.0 | 32 47 22 17 30
2D-16-247 2D-16-24RNWZ | M16X1.5 | M24X1.5 8 16 013.0x2.0 | 32 | 47 | 22 19 30
2D-18-247 2D-18-24RNWZ | M18X1.5 | M24X1.5 10 16 013.0x2.0 |31.5] 48 | 22 | 22 | 30
2D-20-247 2D-20-24RNWZ | M20X1.5 | M24X1.5 12 16 013.0x2.0 | 33.5| 50 22 24 30
2D-22-247 2D-22-24RNWZ | M22X1.5 | M24X1.5 14 16 013.0x2.0 | 33 51 24 27 30
2D-14-30Z 2D-14-30RNWZ | M14X1.5 M30X2 6 20 016.3x2.4 | 36 51 27 17 36
2D-16-30Z 2D-16-30RNWZ | M16X1.5 M30X2 8 20 016.3x2.4 | 36 51 27 19 36
2D-18-30Z 2D-18-30RNWZ | M18X1.5 M30X2 10 20 016.3x2.4 |355| 52 | 27 | 22 | 36
2D-20-30Z 2D-20-30RNWZ | M20X1.5 M30X2 12 20 016.3x2.4 | 35.5| 52 27 24 36
2D-22-30Z 2D-22-30RNWZ | M22X1.5 M30X2 14 20 016.3x2.4 | 37 55) 30 27 36
2D-24-30Z 2D-24-30RNWZ | M24X1.5 M30X2 16 20 016.3x2.4 | 37.5| 55 30 30 36
2D-14-36Z 2D-14-36RNWZ | M14X1.5 M36X2 6 25 020.3x2.4 |38.5| 53 36 17 | 46
2D-16-36Z 2D-16-36RNWZ | M16X1.5 M36X2 8 25 020.3x2.4 |38.5| 53 36 19 | 46
2D-18-36Z 2D-18-36RNWZ | M18X1.5 M36X2 10 25 020.3x2.4 | 38 54 36 22 | 46
2D-20-36Z 2D-20-36RNWZ | M20X1.5 M36X2 12 25 020.3x2.4 | 38 54 36 24 | 46
2D-22-36Z 2D-22-36RNWZ | M22X1.5 M36X2 14 25 020.3x2.4 |39.5| 57 36 27 | 46
2D-24-36Z 2D-24-36RNWZ | M24X1.5 M36X2 16 25 020.3x2.4 | 39 57 36 30 | 46
2D-30-36Z 2D-30-36RNWZ M30X2 M36X2 20 25 020.3x2.4 | 39 | 61 36 | 36 | 46
2D-14-427 2D-14-42RNWZ | M14X1.5 M42X2 6 30 025.3x2.4 | 44 59 | 41 17 50
2D-16-427 2D-16-42RNWZ | M16X1.5 M42X2 8 30 025.3x2.4 | 44 59 | 41 19 50
2D-18-427 2D-18-42RNWZ | M18X1.5 M42X2 10 30 025.3x2.4 143.5] 60 | 41 22 50
2D-20-427 2D-20-42RNWZ | M20X1.5 M42X2 12 30 025.3x2.4 |43.5| 60 | 41 24 50
2D-22-427 2D-22-42RNWZ | M22X1.5 M42X2 14 30 025.3x2.4 | 45 63 | 41 27 50
2D-24-427 2D-24-42RNWZ | M24X1.5 M42X2 16 30 025.3x2.4 |44.5| 63 | 41 30 50
2D-30-427 2D-30-42RNWZ M30X2 M42X2 20 30 025.3x2.4 |445]| 66 | 41 36 50
2D-36-427 2D-36-42RNWZ M36X2 M42X2 25 30 025.3x2.4 | 44 69 | 41 46 50
2D-14-527 2D-14-52RNWZ | M14X1.5 M52X2 6 38 033.3x2.4 |47.5| 62 50 17 60
2D-16-527 2D-16-52RNWZ | M16X1.5 M52X2 8 38 033.3x2.4 |47.5| 62 | 50 19 | 60
2D-18-527 2D-18-52RNWZ | M18X1.5 M52X2 10 38 033.3x2.4 | 47 63 50 22 60
2D-20-527 2D-20-52RNWZ | M20X1.5 M52X2 12 38 033.3x2.4 | 47 63 50 24 60
2D-22-527 2D-22-52RNWZ | M22X1.5 M52X2 14 38 033.3x2.4 |48.5| 66 50 27 60
2D-24-527 2D-24-52RNWZ | M24X1.5 M52X2 16 38 033.3x24 | 48 | 66 | 50 | 30 | 60
2D-30-527 2D-30-52RNWZ M30X2 M52X2 20 38 033.3x2.4 | 48 70 50 36 60
2D-36-527 2D-36-52RNWZ M36X2 M52X2 25 38 033.3x2.4 |48.5| 73 50 | 46 60
2D-42-527 2D-42-52RNWZ M42X2 M52X2 30 38 033.3x2.4 | 49 76 50 50 60

B-20 EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

w ) i ﬁéj@ INEISMBLI24 4/
AR NI PRISRLI24° HE
: L1 90°
METRIC MALE 24°CONE /
2C9 2C9-RNW METRIC FEMALE 24°CONE
2D9 2D9-RNW 90° ELBOW
X 5 PART NO. 2 2L THREAD & |E 74METUBEO.D.| O JU < DIMENSIONS
3L 4ABODY | 4 {FASSEMBLY E F D1 D2 O-RING [ 1 |L1|L2[s1]|s2]s3
2C9-12Z 2C9-12RNWZ | M12X15 [M12X15| 6 6 0045x1.5| 12 |27 |26 [ 12 [ 14 | 14
2C9-14Z 2C9-14RNWZ | M14X15 [M14X15| 8 8 006.5x1.5 | 14 | 29 |27.5| 12 | 17 | 17
2C9-16Z 2C9-16RNWZ | M16X1.5 [ M16X1.5| 10 10 008.0x1.5| 15 |30 |29 | 14 | 19 | 19
2C9-18Z 2C9-18RNWZ | M18X1.5 [ M18X1.5 | 12 12 010.0x1.5 | 17 | 32 |29.5| 17 | 22 | 22
2C9-227 2C9-22RNWZ | M22X1.5 [ M22x1.5| 15 15 012.0x2.0 | 21 | 36 [32.5| 19 | 27 | 27
2C9-267 2C9-26RNWZ | M26X1.5 [ M26X1.5 | 18 18 015.0x2.0 |23.5| 40 [35.5| 24 | 32 | 32
2C9-30Z 2C9-30RNWZ | M30X2 | m30x2 22 22 020.0x2.0 |27.5| 44 [38.5| 27 | 36 | 36
2C9-36Z 2C9-36RNWZ | M36X2 | m36x2 28 28 026.0x2.0 |30.5| 47 [41.5| 36 | 41 | 41
2C9-457 2C9-45RNWZ | M45X2 | M45X2 35 35 032.0x2.5 |34.5| 56 | 51 | 41 | 50 | 50
2C9-527 2C9-52RNWZ | M52X2 | m52x2 42 42 038.0x2.5 | 40 [ 63 | 56 | 50 | 60 | 60
2D9-147 2D9-14RNWZ | M14X15 [M14X15| 6 6 0045x1.5| 16 |31 |27 [ 12 [ 17 | 17
2D9-16Z 2D9-16RNWZ | M16X1.5 | M16X1.5| 8 8 006.5x1.5 | 17 | 32 [27.5| 14 | 19 | 19
2D9-18Z 2D9-18RNWZ | M18X1.5 | M18X1.5| 10 10 008.0x1.5 |17.5| 34 [ 30 | 17 | 22 | 22
2D9-20Z 2D9-20RNWZ | M20X1.5 [ M20X1.5 | 12 12 010.0x1.5 |21.5| 38 | 31 | 17 | 24 | 24
2D9-227 2D9-22RNWZ | M22X1.5 [ M22X1.5 | 14 14 011.0x2.0 [ 22 [ 40 | 35 | 19 | 27 | 27
2D9-247 2D9-24RNWZ | M24X1.5 [ M24X15| 16 16 013.0x2.0 |24.5| 43 |36.5| 24 | 30 | 30
2D9-30Z 2D9-30RNWZ | M30X2 | M30x2 20 20 016.3x2.4 |26.5| 48 [44.5| 27 | 36 | 36
2D9-36Z 2D9-36RNWZ | M36X2 | M36x2 25 25 020.3x2.4 | 30 | 54 [ 50 | 36 | 46 | 46
2D9-427 2D9-42RNWZ | M42x2 | m42x2 30 30 025.3x2.4 |35.5| 62 | 55 | 41 | 50 | 50
2D9-527 2D9-52RNWZ | M52X2 | M52x2 38 38 033.3x2.4 | 41|72 | 63 | 50 [ 60 | 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-21



FTEXEREX

A L1
NN '
Wl Ifa\m
Yy
Ter®
S1\82 F IR O B B ks
NEIRRL 244
2GC BSP THREAD STUD ENDS WITH O-RING SEALING/
2GD METRIC FEMALE 24°CONE
= i% 40 THREAD % 4M# TUBE O.D. OF% M O-RING &~} DIMENSIONS
PART NO. E F D1 E ifi F ¥ A L1 S1 | s2

2GC-02-12Z7 G1/8"X28 M12X1.5 6 07.97X1.88 | O04.5X1.5| 7.6 | 24.9 14 17
2GC-04-14Z2 G1/4"X19 M14X1.5 8 o111 006.5X1.5 1 26 19 17
2GC-04-16Z2 G1/4"X19 M16X1.5 10 o111 008.0X1.5 1 25 19 19
2GC-04-18Z2 G1/4"X19 M18X1.5 12 o111 010.0X1.5 1 26 19 22
2GC-06-16Z G3/8"X19 M16X1.5 10 0113 008.0X1.5| 11.5 26 24 19
2GC-06-18Z2 G3/8"X19 M18X1.5 12 0113 010.0X1.5| 11.5 29 24 22
2GC-08-227 G1/2"X14 M22X1.5 15 017.86X2.62| 012.0X2.0| 14 | 315 | 27 27
2GC-08-26Z2 G1/2"X14 M26X1.5 18 017.86X2.62| 0O15.0X2.0 | 14 34 27 32
2GC-12-30Z2 G3/4"X14 M30X2 22 0119 020.0X2.0 | 14.5 34 36 36
2GC-12-527 G3/4"X14 M52X2 42 0119 038.0X2.5| 15.5 | 40.5 | 50 60
2GC-16-36Z G1"X11 M36X2 28 0217 026.0X2.0| 186 | 379 | 41 41
2GC-20-45Z2 G1.1/4"X11 M45X2 35 0222 032.0X2.5| 20 43 50 50
2GC-24-527 G1.1/2"X11 M52X2 42 0224 038.0X2.51 215 | 46 60 60
2GD-04-14Z2 G1/4"X19 M14X1.5 6 o111 004.5X1.5| 11 26.5| 19 17
2GD-04-16Z G1/4"X19 M16X1.5 8 o111 006.5X1.5 1 26 19 19
2GD-04-18Z G1/4"X19 M18X1.5 10 o111 008.0X1.5 11 26.5 19 22
2GD-06-18Z G3/8"X19 M18X1.5 10 0113 008.0X1.51 1151295 | 24 22
2GD-06-20Z G3/8"X19 M20X1.5 12 0113 010.0X1.5| 11.5 30 24 24
2GD-06-24Z7 G3/8"X19 M24X1.5 16 0113 013.0X2.0| 11.5 32 24 30
2GD-08-18Z G1/2"X14 M18X1.5 10 017.86X2.62| O08.0X1.5| 14 | 30.5| 27 22
2GD-08-20Z7 G1/2"X14 M20X1.5 12 017.86X2.62| 0O10.0X1.5| 14 | 325 | 27 24
2GD-08-227 G1/2"X14 M22X1.5 14 017.86X2.62| 0O11.0X2.0 14 | 325 | 27 27
2GD-08-247 G1/2"X14 M24X1.5 16 017.86X2.62| 013.0X2.0| 14 | 345 | 27 30
2GD-12-30Z G3/4"X14 M30X2 20 0119 016.3X2.4 | 14.5 | 40 36 36
2GD-12-36Z G3/4"X14 M36X2 25 0119 020.3X2.4 | 1551 40.5 | 36 46
2GD-16-36Z G1"X11 M36X2 25 0217 020.3X2.4 | 186 | 424 | 41 46
2GD-20-42Z7 G1.1/4"X11 M42X2 30 0222 025.3X2.4 | 20 46 50 50
2GD-20-527 G1.1/4"X11 M52X2 38 0222 033.3X24 | 20 49 50 60
2GD-24-527 G1.1/2"X11 M52X2 38 0224 033.3X24 |1 215 | 49 60 60

. EMESUR51SO 1179-13 D CE# . Note: E thread end fit with ISO 1179-1 port.

B-22

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

L1

s2 I
S1
NN
. 9 l E
4C 4C-RNW DNHIINRL24°4E 1k
4D 4D-RNW METRIC MALE 24°CONE PLUG
{5 PART NO. i 50 E & FHMEDA JU < DIMENSIONS
P23k tkBODY 21+ ASSEMBLY THREAD E TUBE O.D. 1 L1 S1 S2
4C-12Z 4C-12RNWZ M12x1.5 6 7 22 12 14
4C-14Z 4C-14RNWZ M14x1.5 8 23 14 17
4C-16Z 4C-16RNWZ M16x1.5 10 9 24 17 19
4C-18Z 4C-18RNWZ M18x1.5 12 10 25 19 22
4C-227 4C-22RNWZ M22x1.5 15 11 26 24 27
4C-26Z 4C-26RNWZ M26X1.5 18 1.5 28 27 32
4C-30Z 4C-30RNWZ M30x2 22 13.5 30 32 36
4C-30DZ 4C-30RNWZ M30x1.5 22 13.5 30 32 36
4C-36Z 4C-36RNWZ M36x2 28 14.5 31 41 41
4C-36DZ 4C-36RNWZ M36x1.5 28 14.5 31 41 41
4C-457 4C-45RNWZ M45X2 35 14.5 36 46 50
4C-45DZ 4C-45RNWZ M45X1.5 35 15.5 36 46 50
4C-52Z 4C-52RNWZ M52X2 42 16 39 55 60
4D-14Z 4D-14RNWZ M14X1.5 6 11 26 14 17
4D-16Z 4D-16RNWZ M16X1.5 8 13 28 17 19
4D-18Z 4D-18RNWZ M18x1.5 10 12.5 29 19 22
4D-20Z 4D-20RNWZ M20x1.5 12 14.5 31 22 24
4D-227 4D-22RNWZ M22x1.5 14 16 34 24 27
4D-247 4D-24RNWZ M24x1.5 16 15.5 34 27 30
4D-30Z 4D-30RNWZ M30x2 20 17.5 39 32 36
4D-36Z 4D-36RNWZ M36x2 25 20 44 41 46
4D-427 4D-42RNWZ M42x2 30 20.5 47 46 50
4D-52Z 4D-52RNWZ M52X2 38 23 54 55 60
EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-23




FTEXEREX

Jf

QN

7 NN OSN

1. R

N | |5 S

6C 6C-LN 6C-LNRNW

6D 6D-LN 6D-LNRNW

INEIIMBLT 248 1T MR IESL
METRIC MALE 24°CONE BULKHEAD
£ 5 PART NO. 12 2y THREAD | 4#M% TUBE K ~+ DIMENSIONS

223 AKBODY |4 /+-ASSEMBLY | 2H{4-ASSEMBLY| 4 {FASSEMBLY E E D1 D2 11 12 |L1]|L2|S1]S2,S3|S4
6C-12Z 6C-12LNZ 6C-12RNWZ |6C-12LNRNWZ|M12X1.5|M12X1.5| 6 6 7 27 22142117 14 |17
6C-14Z 6C-14LNZ 6C-14RNWZ |6C-14LNRNWZ|M14X1.5|M14X1.5| 8 8 8 27 123142119 17 |19
6C-16Z 6C-16LNZ 6C-16RNWZ |6C-16LNRNWZ|M16X1.5|M16X1.5| 10 10 10 28 125(43122| 19 |22
6C-18Z 6C-18LNZ 6C-18RNWZ |6C-18LNRNWZ | M18X1.5|M18X1.5| 12 12 10 29 (25|44 124 | 22 |24
6C-22Z 6C-22LNZ 6C-22RNWZ |6C-22LNRNWZ|M22X1.5|M22X1.5| 15 15 12 31 |127|46|27| 27 |30
6C-26Z 6C-26LNZ 6C-26RNWZ |6C-26LNRNWZ | M26X1.5|M26X1.5| 18 18 |13.5132.5|30149|32| 32 |36
6C-30Z 6C-30LNZ 6C-30RNWZ |6C-30LNRNWZ| M30X2 | M30X2 | 22 | 22 |16.5|134.5|133|51|36| 36 |41
6C-36Z 6C-36LNZ 6C-36RNWZ |6C-36LNRNWZ| M36X2 | M36X2 | 28 | 28 |18.5|135.5|35|52|41| 41 |46
6C-457 6C-45LNZ 6C-45RNWZ |6C-45LNRNWZ| M45X2 | M45X2 | 35 | 35 |18.5136.5|140|58|50| 50 |55
6C-527 6C-52LNZ 6C-52RNWZ |6C-52LNRNWZ| M52X2 | M52X2 | 42 | 42 19 36 |142|59|60| 60 |65
6D-14Z 6D-14LNZ 6D-14RNWZ |6D-14LNRNWZ|M14X1.5|M14X1.5| © 6 12 29 (27144119 17 |19
6D-16Z 6D-16LNZ 6D-16RNWZ |6D-16LNRNWZ |M16X1.5|M16X1.5| 8 8 13 29 |28|44122| 19 |22
6D-18Z 6D-18LNZ 6D-18RNWZ [6D-18LNRNWZ|M18X1.5|M18X1.5| 10 10 |14.5129.5|131146|24| 22 |24
6D-20Z 6D-20LNZ 6D-20RNWZ |6D-20LNRNWZ|M20X1.5|M20X1.5| 12 12 1145130531147 |27| 24 |27
6D-22Z 6D-22LNZ 6D-22RNWZ [6D-22LNRNWZ|M22X1.5|M22X1.5| 14 14 17 32 |35|50|30| 27 |30
6D-24Z 6D-24LNZ 6D-24RNWZ |6D-24LNRNWZ|M24X1.5|M24X1.5| 16 16 116.5131.5|135]|50|32| 30 |32
6D-30Z 6D-30LNZ 6D-30RNWZ |6D-30LNRNWZ| M30X2 | M30X2 | 20 | 20 |17.5133.5|139|55141| 36 |41
6D-36Z 6D-36LNZ 6D-36RNWZ |6D-36LNRNWZ| M36X2 | M36X2 | 25 | 25 | 20 35 |44 |59|46| 46 |46
6D-42Z 6D-42LNZ 6D-42RNWZ [6D-42LNRNWZ| M42X2 | M42X2 | 30 | 30 |21.5|37.5|48|64|50| 50 |50
6D-527 6D-52LNZ 6D-52RNWZ |6D-52LNRNWZ| M52X2 | M52X2 | 38 | 38 | 22 37 |53|68|65| 60 |65

B-24

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

N

L
“E NSRS
METRICLOCKNUT
8C-LN 1SO8434-1
5 IRZTHREAD JUF DIMENSIONS
PARTNO. E A S1
8C-12LNZ M12X1.5 6 17
8C-14LNZ M14X1.5 6 19
8C-16LNZ M16X1.5 6 22
8C-18LNZ M18X1.5 6 24
8C-20LNZ M20X1.5 6 27
8C-22LNZ M22X1.5 7 30
8C-24LNZ M24X1.5 7 32
8C-26LNZ M26X1.5 8 36
8C-30LNZ M30X2 8 41
8C-36LNZ M36X2 9 46
8C-42LNZ M42X2 9 50
8C-45LNZ M45X2 9 55
8C-52LNZ M52X2 10 65

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-25



FTEXEREX

L1

L ’ QO

[

M [

[ ) LJ\/

e
9C NERERG24°4E K
9D METRIC FEMALE 24°CONE PLUG
® B i 4L THREAD SEAME D O JX~J DIMENSIONS

PART NO. F TUBE O.D. O-RING L L1 S2
9C-12Z M12X1.5 6 004.5x1.5 15.5 17.5 14
9C-14z M14X1.5 8 006.5x1.5 15.5 18 17
9C-16Z M16X1.5 10 008.0x1.5 16.5 18 19
9C-18Z2 M18X1.5 12 010.0x1.5 18 19.5 22
9C-227 M22X1.5 15 012.0x2.0 18.5 20 27
9C-26Z M26X1.5 18 015.0x2.0 €5 22 32
9C-30Z M30X2 22 020.0x2.0 21.5 22.5 36
9C-36Z M36X2 28 026.0x2.0 22.5 245 41
9C-45Z2 M45X2 35 032.0x2.5 25 29 50
9C-527 M52X2 42 038.0x2.5 27 31.5 60
9D-14Z M14X1.5 6 004.5x1.5 16 18 17
9D-16Z M16X1.5 8 006.5x1.5 16.5 18.5 19
9D-18Z M18X1.5 10 008.0x1.5 18 20 22
9D-20Z M20X1.5 12 010.0x1.5 18.5 20.5 24
9D-22Z M22X1.5 14 011.0x2.0 19 21.5 27
9D-24Z M24X1.5 16 013.0x2.0 18.5 21.5 30
9D-30Z M30X2 20 016.3x2.4 225 25 36
9D-36Z M36X2 25 020.3x2.4 23.5 28.5 46
9D-427 M42X2 30 025.3x2.4 255 32 50
9D-527 M52X2 38 033.3x2.4 26.5 36 60

B-26 EATON Winner 53 &%k H-AP-EHGC-2011-C2 July 2015



FTEXEREX

F

i s3

T 1
\
A%? % W
w 4 W e

=
J

-

o [ T

AC AC-RNW ANBISMES24°% =18
AD AD-RNW METRIC MALE 24°CONE TEE
& 5 PART NO. i 2 THREAD|# F4Mz TUBE O.D. &~} DIMENSIONS
$:3kABODY 4 {FASSEMBLY E,F.G D1,D2,D3 11,12,13 [ L1,L2,L3 S1  |S2,83,34
AC-12Z AC-12RNWZ M12X1.5 6 12 27 12 14
AC-14Z AC-14RNWZ M14X1.5 8 14 29 12 17
AC-16Z AC-16RNWZ M16X1.5 10 15 30 14 19
AC-18Z AC-18RNWZ M18X1.5 12 17 32 17 22
AC-227 AC-22RNWZ M22X1.5 15 21 36 19 27
AC-26Z AC-26RNWZ M26X1.5 18 23.5 40 24 32
AC-30Z AC-30RNWZ M30X2 22 27.5 44 27 36
AC-36Z AC-36RNWZ M36X2 28 30.5 47 36 41
AC-457 AC-45RNWZ M45X2 35 34.5 56 41 50
AC-52Z AC-52RNWZ M52X2 42 40 63 50 60
AD-14Z AD-14RNWZ M14X1.5 6 16 31 12 17
AD-16Z AD-16RNWZ M16X1.5 8 17 32 14 19
AD-18Z AD-18RNWZ M18X1.5 10 17.5 34 17 22
AD-20Z AD-20RNWZ M20X1.5 12 215 38 17 24
AD-227 AD-22RNWZ M22X1.5 14 22 40 19 27
AD-24Z AD-24RNWZ M24X1.5 16 24.5 43 24 30
AD-30Z AD-30RNWZ M30X2 20 26.5 48 27 36
AD-36Z AD-36RNWZ M36X2 25 30 54 36 46
AD-427 AD-42RNWZ M42X2 30 35.5 62 41 50
AD-52Z AD-52RNWZ M52X2 38 41 72 50 60
EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-27



FTEXEREX

ACCH-OGN
ADDH-OGN

S3

L2

12

L3

ACCH-OGNRNW
ADDH-OGNRNW

NHISMEL 248 | AIER A FISMEL OB X =18
METRIC MALE 24° CONE / ADJUSTABLE METRIC O-RING

RUN TEE
5 PART NO. I8 80 THREAD |#74142D1,02| OJE S~ DIMENSIONS

#:3LfkBODY 21+ ASSEMBLY E,F G TUBEO.D. |ORING |12 [L1,L2[ L3 | S1 |S2,83| S4
ACCH-12-12-100GNZ [ACCH-1212100GNRNWZ |M12X1.5 | M10X1 6 008.1X1.6| 13 | 28 |26.5| 11 | 14 | 14
ACCH-14-14-120GNZ [ACCH-1414120GNRNWZ|M14X1.5|M12X1.5 8 009.3X2.2|115.5|30.5| 32 | 14 [ 17 | 17
ACCH-16-16-140GNZ [ACCH-1616140GNRNWZ[M16X1.5|M14X1.5 10 011.3%X2.2|17.5[32.5( 34 [ 16 | 19 | 19
ACCH-18-18-160GNZ [ACCH-1818160GNRNWZ[M18X1.5|M16X1.5 12 013.3X2.2| 19 | 34 | 36 | 19 [ 22 | 22
ACCH-22-22-180GNZ [ACCH-2222180GNRNWZ[M22X1.5|M18X1.5 15 015.3X2.4| 22 | 37 |39.5| 22 | 27 | 24
ACCH-26-26-220GNZ [ACCH-2626220GNRNWZM26X1.5|M22X1.5 18 019.3X2.2|25.5| 42 |435| 27 | 32 | 27
ACCH-30-30-270GNZ [ACCH-3030270GNRNWZ| M30X2 | M27X2 22 023.6X2.9|129.3|45.8| 50 | 30 | 36 | 32
ACCH-36-36-330GNZ [ACCH-3636330GNRNWZ| M36X2 | M33X2 28 029.6X2.9|33.349.8| 54 | 36 | 41 | 41
ADDH-14-14-120GNZ [ADDH-1414120GNRNWZ[M14X1.5|M12X1.5 6 009.3X2.2|17.5|32.5| 32 | 14 | 17 | 17
ADDH-16-16-140GNZ [ADDH-1616140GNRNWZ[M16X1.5|M14X1.5 8 011.3%x2.2|18.7(33.7 34 [ 16 | 19 | 19
ADDH-18-18-160GNZ |ADDH-1818160GNRNWZ[M18X1.5|M16X1.5 10 013.3X2.2|19.5| 36 | 36 | 19 [ 22 | 22
ADDH-20-20-180GNZ [ADDH-2020180GNRNWZ [M20X1.5|M18X1.5 12 015.3X2.4|19.5| 36 | 37 | 19 | 24 | 24
ADDH-24-24-220GNZ [ADDH-2424220GNRNWZ |M24X1.5|M22X1.5 16 019.3x22| 24 | 42 |37.5| 24 | 30 |27
ADDH-30-30-270GNZ |ADDH-3030270GNRNWZ| M30X2 | M27X2 20 023.6X2.9|128.3|49.8| 50 | 30 [ 36 | 32
ADDH-36-36-330GNZ [ADDH-3636330GNRNWZ| M36X2 | M33X2 25 029.6X2.9|132.8|56.8| 54 | 36 | 46 | 41
ADDH-42-42-420GNZ [ADDH-4242420GNRNWZ| M42X2 | M42x2 30 038.6X2.9|36.2|62.7|57.2| 41 [ 50 |50

VE: GERZUR SISO 6149-13M I LEC#H . Note: G thread end fit with 1SO 6149-1 port.

B-28

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

F D2
: S3 |
T S2 | “~
. %m , | -
B SR -
= R
S1 L1 L3
ACCO-0G ACCO-OGRNW
ADDO-0G ADDO-OGRNW
AHISMEL24° 4/ EHI AT RO Bl Z
FRZiB
METRIC MALE 24°CONE/UN ORING ADJUSTABLE
RUN TEE
5 PART NO. 2 S THREAD  |%5744% D1,.02| OlHE S~ DIMENSIONS
P23k fkBODY A1+ ASSEMBLY EF G TUBEO.D. |[O-RING||12[L1,L2| L3 |S1]S2,93|54
ACCO-12-12-040GZ | ACCO-1212040GRNWZ [ M12X1.5 | 7/16"X20 6 0904 | 13| 28 | 28 [11]| 14 |17
ACCO-14-14-060GZ [ACCO-1414060GRNWZ | M14X1.5 | 9/16"X18 8 0906 |15.5| 30.5 |31.32[14]| 17 |19
ACCO-16-16-060GZ | ACCO-1616060GRNWZ [ M16X1.5 | 9/16"X18 10 0906 | 17 | 32.5|33.5 16| 19 |19
ACCO-18-18-080GZ | ACCO-1818080GRNWZ [ M18X1.5 | 3/4"X16 12 0908 | 19| 34 |37.5(19| 22 |24
ACC0-22-22-100GZ | ACCO-2222100GRNWZ [ M22X1.5 |  7/8"X14 15 0910 | 22 | 37 |44.5 (22| 27 |27
ACCO0-26-26-120GZ | ACCO-2626120GRNWZ | M26X1.5 | 1.1/16"X12 18 0912 |25.5 42 | 51 (27| 32 |32
ACCO0-30-30-120GZ | ACCO-3030120GRNWZ | M30X2 | 1.1/16"X12 22 0912 |29.5|45.8 | 54 (30| 36 |32
ACCO0-36-36-160GZ | ACCO-3636160GRNWZ | M36X2 | 1.5/16"X12 28 0916 |33.3| 49.8 | 57.5 36| 41 |41
ACCO0-45-45-200GZ | ACCO-4545200GRNWZ [ M45X2 | 1.5/8"X12 35 0920 |39.2|60.7 | 63 (48| 50 |50
ADDO-14-14-040GZ | ADDO-1414040GRNWZ [ M14X1.5 | 7/16"X20 6 0904 |17.5]32.5| 30 (14| 17 |17
ADDO-16-16-060GZ | ADDO-1616060GRNWZ | M16X1.5 | 9/16"X18 8 0906 |19 | 34 [33.3[16] 19 [19
ADDO-18-18-060GZ | ADDO-1818060GRNWZ [ M18X1.5 | 9/16"X18 10 0906 |19.5| 36 | 35 [19] 22 |19
ADDO-20-20-080GZ | ADDO-2020080GRNWZ | M20X1.5 |  3/4"X16 12 0908 |[19.5| 36 |[37.5(19| 24 |24
ADDO-22-22-100GZ [ADDO-2222100GRNWZ | M22X1.5 | 7/8"X14 14 0910 | 23| 41 | 44 (22| 27 |27
ADDO-24-24-100GZ | ADDO-2424100GRNWZ | M24X1.5 |  7/8"X14 16 0910 | 24 | 425|465 (24| 30 |27
ADDO-30-30-120GZ | ADDO-3030120GRNWZ | M30X2 | 1.1/16"X12 20 0912 |28.3| 49.8 | 53.5 (30| 36 [32
ADDO-36-36-160GZ | ADDO-3636160GRNWZ [ M36X2 | 1.5/16"X12 25 0916 [32.8| 56.8 | 58.8 [36| 46 |41
ADDO-42-42-200GZ [ ADDO-4242200GRNWZ | M42X2 | 1.5/8"X12 30 0920 |[36.2| 62.7 | 59.5 [41]| 50 [50
VE: GEEZUH 51S0O 11926-13h I VLA . Note: G thread end fit with ISO11926-1 port.
EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-29




FTEXEREX

‘ —
E}E LI -
Moo s2/ L I 2 | \sa
— L1 L2
S1

ACHC-OGN ACHC-OGNRNW

ADHD-OGN ADHD-OGNRNW
NHISMRELZI24°4E | TR /AHISES O

PE=E

METRIC MALE 24° CONE / ADJUSTABLE

METRIC MALE O-RING

BRANCH TEE
5 PART NO. 2 50 THREAD |#7442D1,.D2| OJLH JU~f DIMENSIONS

L ABODY YAfFASSEMBLY E.G F TUBEOD. | ORING |j12|L1,L2| L3 [S1]|S2,54|S3
ACHC-12-10-120GNZ | ACHC-1210120GNRNWZ |M12X1.5| M10X1 6 008.1X1.6 | 13 | 28 |26.5|11| 14 |14
ACHC-14-12-140GNZ | ACHC-1412140GNRNWZ |M14X1.5|M12X1.5 8 009.3X2.2 [15.5| 30.5 | 32 |14| 17 |17
ACHC-16-14-160GNZ | ACHC-1614160GNRNWZ |M16X1.5|M14X1.5 10 011.3X2.2 |17.5| 32.5 | 34 [16] 19 [19
ACHC-18-16-180GNZ |ACHC-1816180GNRNWZ |M18X1.5|M16X1.5 12 013.3x2.2| 19| 34 | 36 |19| 22 |22
ACHC-22-18-220GNZ | ACHC-2218220GNRNWZ |M22X1.5|M18X1.5 15 015.3X2.2 | 22 | 37 |39.5|22| 27 |24
ACHC-26-22-260GNZ | ACHC-2622260GNRNWZ |M26X1.5|M22X1.5 18 019.3X2.2 |25.5| 42 |43.5|27| 32 |27
ACHC-30-27-300GNZ | ACHC-3027300GNRNWZ| M30X2 | M27X2 22 023.6X2.9 [29.3| 45.8 | 50 |30| 36 |32
ACHC-36-33-360GNZ | ACHC-3633360GNRNWZ| M36X2 | M33X2 28 029.6X2.9 |33.3| 49.8 | 54 |36| 41 |41
ADHD-14-12-140GNZ | ADHD-1412140GNRNWZ |M14X1.5|M12X1.5 6 009.3X2.2 [17.5| 32.5 | 32 |14| 17 |17
ADHD-16-14-160GNZ | ADHD-1614160GNRNWZ |M16X1.5|M14X1.5 8 011.3X2.2 |18.7| 33.7 | 34 |16] 19 [19
ADHD-18-16-180GNZ | ADHD-1816180GNRNWZ | M18X1.5|M16X1.5 10 013.3X2.2 [19.5| 36 | 36 |19| 22 |22
ADHD-20-18-200GNZ | ADHD-2018200GNRNWZ |M20X1.5|M18X1.5 12 015.3X2.2 [19.5| 36 | 37 |19| 24 |24
ADHD-24-22-240GNZ | ADHD-2422240GNRNWZ | M24X1.5|M22X1.5 16 019.3X2.2 | 24 | 42 |37.5|24| 30 |27
ADHD-30-27-300GNZ [ ADHD-3027300GNRNWZ| M30X2 | M27X2 20 023.6X2.9 [28.3] 49.8 | 50 |30 36 |32
ADHD-36-33-360GNZ [ ADHD-3633360GNRNWZ| M36X2 | M33X2 25 029.6X2.9 [32.8| 56.8 | 54 |36| 46 |41
ADHD-42-42-420GNZ | ADHD-4242420GNRNWZ | M42X2 | M42X2 30 038.6X2.9 [36.2| 62.7 [57.2]|41| 50 |50

v FIZEE051S0 6149-13 HIULALAE . Note: F thread end fit with 1ISO 6149-1 port.

B-30

EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

i ki
EE <UD RS
L1 L2
ACOC-0G ACOC-OGRNW
ADOD-0G ADOD-OGRNW
ANFIIMRELL24°HE/ £ H AT E IO Bl 5+
NE=I8
METRIC MALE 24°CONE/UN ORING ADJUSTABLE
BRANCH TEE
£ 5 PART NO. #2 4L THREAD |4 74142 D1.D2| OE J <+ DIMENSIONS
3L KBODY fFASSEMBLY E.G F TUBEO.D. |O-RING(jq12|L1,L2| L3 [s1[S2,54|S3
ACOC-12-04-120GZ | ACOC-1204120GRNWZ|M12X1.5| 7/16"X20 6 0904 | 13| 28 |27.5(11| 14 |17
ACOC-14-06-140GZ | ACOC-1406140GRNWZ|M14X1.5| 9/16"X18 8 0906 [15.5/30.5[31.8[14| 17 |19
ACOC-16-06-160GZ [ACOC-1606160GRNWZ|M16X1.5| 9/16"X18 10 0906 | 17 |32.5[33.3[16] 19 [19
ACOC-18-08-180GZ [ACOC-1808180GRNWZ|M18X1.5| 3/4"X16 12 0908 | 19 | 34 [37.5[19 22 |24
ACOC-22-10-220GZ [ACOC-2210220GRNWZ|M22X1.5| 7/8"X14 15 0910 | 22| 37 | 44 |22 27 |27
ACOC-26-12-260GZ | ACOC-261226 0GRNWZ |M26X1.5| 1.1/16"X12 18 0912 |255| 42 | 51 |27 32 |32
ACOC-30-12-300GZ [ACOC-3012300GRNWZ| M30X2 [1.1/16"X12 22 0912 |29.5|45.8| 54 30| 36 |32
ACOC-36-16-360GZ | ACOC-3616360GRNWZ | M36X2 | 1.5/16"X12 28 0916 [33.3|49.8 [57.5(36 41 [41
ACOC-45-20-450GZ [ACOC-4520450GRNWZ| M45X2 | 1.5/8"X12 35 0920 [39.2|60.7 | 63 48] 50 |50
ADOD-14-04-140GZ | ADOD-1404140GRNWZ |M14X1.5| 7/16"X20 6 0904 [17.5/32.5| 30 [14| 17 |17
ADOD-16-06-160GZ | ADOD-1606160GRNWZ |M16X1.5| 9/16"X18 8 0906 [18.7|33.7 [33.3[16[ 19 [19
ADOD-18-06-180GZ | ADOD-1806180GRNWZ|M18X1.5| 9/16"X18 10 0906 [19.5| 36 [33.5[19] 22 |19
ADOD-20-08-200GZ | ADOD-2008200GRNWZ|M20X1.5| 3/4"X16 12 0908 [19.5| 36 [37.5[19] 24 |24
ADOD-22-10-220GZ | ADOD-2210220GRNWZ|M22X1.5| 7/8"X14 14 0910 | 23| 41 | 44 |22 27 |27
ADOD-24-10-240GZ | ADOD-2410240GRNWZ|M24X1.5| 7/8"X14 16 0910 | 24 | 42.5 |46.5(24| 30 |27
ADOD-30-12-300GZ | ADOD-3012300GRNWZ | M30X2 | 1.1/16"X12 20 0912 |28.3|49.8 [53.5[30[ 36 |32
ADOD-36-16-360GZ |ADOD-3616360GRNWZ| M36X2 | 1.5/16"X12 25 0916 |32.8|56.8 [57.5|36| 46 |41
ADOD-42-20-420GZ | ADOD-4220420GRNWZ | M42X2 | 1.5/8"X12 30 0920 [36.2|62.7 [59.5[41| 50 |50
VE: FI2Z0H 51S0 11926-13 VLA # . Note: F thread end fit with 1ISO11926-1 port.

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-31



FTEXEREX

RSB 244/
AHEIRERG24°HE

XA
METRIC MALE 24°CONE/

BC BC-RNW METRIC FEMALE 24°CONE
BD BD-RNW BRANCH TEE
A 5 PART NO. 12 2r THREAD &4M% TUBE O.D. O R s DIMENSIONS
#L1ABODY| H4-ASSEMBLY E.G F D1,D3 D2 O-RING | 11,13 | L1,L3 | L2 | S1 |S2,54( S3
BC-12Z BC-12RNWZ | M12X1.5 | M12X1.5 6 6 004.5x1.5| 12 27 26 | 12 14 14
BC-14Z7 BC-14RNWZ | M14X1.5 | M14X1.5 8 8 006.5x1.5| 14 29 |27.5] 12 17 17
BC-16Z BC-16RNWZ | M16X1.5 | M16X1.5 10 10 008.0x1.5| 15 30 29 | 14 19 19
BC-18Z2 BC-18RNWZ | M18X1.5 | M18X1.5 12 12 010.0x1.5( 17 32 |[29.5| 17 22 | 22
BC-227 BC-22RNWZ | M22X1.5 | M22X1.5 15 15 012.0x2.0( 21 36 [32.5| 19 27 | 27
BC-26Z BC-26RNWZ | M26X1.5 | M26X1.5 18 18 015.0x2.0|123.5| 40 |355| 24 32 32
BC-30Z BC-30RNWZ M30X2 M30X2 22 22 020.0x2.0|127.5| 44 |38.5]| 27 36 36
BC-36Z BC-36RNWZ M36X2 M36X2 28 28 026.0x2.0130.5| 47 |41.5| 36 41 41
BC-4572 BC-45RNWZ M45X2 M45X2 35 35 032.0x2.5(34.5| 56 51 | 41 50 50
BC-527 BC-52RNWZ M52X2 M52X2 42 42 038.0x2.5( 40 63 56 | 50 | 60 | 60
BD-14Z BD-14RNWZ | M14X1.5 | M14X1.5 6 6 004.5x1.5| 16 31 27 | 12 17 17
BD-16Z BD-16RNWZ | M16X1.5 | M16X1.5 8 8 006.5x1.5| 17 32 |27.5| 14 19 19
BD-18Z2 BD-18RNWZ | M18X1.5 | M18X1.5 10 10 008.0x1.5(17.5| 34 30 | 17 22 | 22
BD-20Z BD-20RNWZ | M20X1.5 | M20X1.5 12 12 010.0x1.5(21.5| 38 31 17 24 | 24
BD-227 BD-22RNWZ | M22X1.5 | M22X1.5 14 14 011.0x2.0| 22 40 35 119 27 | 27
BD-247 BD-24RNWZ | M24X1.5 | M24X1.5 16 16 013.0x2.0|124.5| 43 |36.5| 24 30 30
BD-30Z BD-30RNWZ M30X2 M30X2 20 20 016.3x2.4|26.5| 48 |44.5]| 27 36 36
BD-36Z BD-36RNWZ M36X2 M36X2 25 25 020.3x2.4| 30 54 50 | 36 46 | 46
BD-427 BD-42RNWZ M42X2 M42X2 30 30 025.3x2.4(35.5| 62 55 | 41 50 50
BD-527 BD-52RNWZ M52X2 M52X2 38 38 033.3x2.4| 41 72 63 | 50 | 60 |60
B-32 EATON Winner i3 iE##k H-AP-EHGC-2011-C2 July 2015




FTEXEREX

NEIMRL24°HE/
AHIRIES24°4 X =18
METRIC MALE 24°CONE/

CcC CC-RNW METRIC FEMALE 24°CONE
CD CD-RNW RUN TEE
A 5 PART NO. 12 2r THREAD &T-4M% TUBE O.D. O R~ DIMENSIONS

#L1ABODY| H4-ASSEMBLY E.F G D1,D2 D3 O-RING | 11,2 | L1,L2 | L3 | S1|S2,83| 54
CC-127 CC-12RNWZ | M12X1.5 | M12X1.5 6 6 004.5x1.5| 12 27 26 | 12 14 14
CC-14z CC-14RNWZ | M14X1.5 | M14X1.5 8 8 006.5x1.5| 14 29 27.5| 12 17 17
CC-16Z CC-16RNWZ | M16X1.5 | M16X1.5 10 10 008.0x1.5] 15 30 29 | 14 19 19
CC-18z CC-18RNWZ | M18X1.5 | M18X1.5 12 12 010.0x1.5| 17 32 295\ 17 22 22
CC-227 CC-22RNWZ | M22X1.5 | M22X1.5 15 15 012.0x2.0] 21 36 325| 19 27 27
CC-26Z CC-26RNWZ | M26X1.5 | M26X1.5 18 18 015.0x2.0123.5| 40 355| 24 32 32
CC-30z CC-30RNWZ M30X2 M30X2 22 22 020.0x2.0(27.5| 44 38.5| 27 36 36
CC-36Z CC-36RNWZ M36X2 M36X2 28 28 026.0x2.0130.5| 47 |415]| 36 41 41
CC-457 CC-45RNWZ M45X2 M45X2 35 35 032.0x2.5(34.5 56 51 | 41 50 50
CC-527 CC-52RNWzZ M52X2 M52X2 42 42 038.0x2.5| 40 63 56 | 50 60 | 60
CD-147 CD-14RNWZ | M14X1.5 | M14X1.5 6 6 004.5x1.5| 16 31 27 | 12 17 17
CD-16Z CD-16RNWZ | M16X1.5 | M16X1.5 8 8 006.5x1.5| 17 32 27.5| 14 19 19
CD-182 CD-18RNWZ | M18X1.5 | M18X1.5 10 10 008.0x1.5117.5 34 30 | 17 22 22
CD-20Z2 CD-20RNWZ | M20X1.5 | M20X1.5 12 12 010.0x1.5121.5 38 31 17 24 24
CD-227 CD-22RNWZ | M22X1.5 | M22X1.5 14 14 011.0x2.0| 22 40 35 | 19 27 27
CD-247 CD-24RNWZ | M24X1.5 | M24X1.5 16 16 013.0x2.0|124.5| 43 36.5| 24 30 30
CD-30Z CD-30RNWZ M30X2 M30X2 20 20 016.3x2.4(26.5| 48 |44.5]| 27 36 36
CD-36Z CD-36RNWZ M36X2 M36X2 25 25 020.3x2.4| 30 54 50 | 36 46 46
CD-427 CD-42RNWZ M42X2 M42X2 30 30 025.3x2.4135.5| 62 55 | 41 50 50
CD-527 CD-52RNWzZ M52X2 M52X2 38 38 033.3x2.4| 41 72 63 | 50 60 | 60

EATON Winner i3 &£k H-AP-EHGC-2011-C2 July 2015 B-33



